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module rms2idx (
ident="v04=000') = begin

COPYRIGHT (c) 1978, 1980, 1982, 1984 BY
DIGITAL EQUIPMENT CORPORATION, MAYNARD, MASSACHUSETTS.
ALL RIGHTS RESERVED.

THIS SOFTWARE IS FURNISHED UNDER A LICENSE AND MAY BE USED AND COPIED
ONLY IN ACCORDANCE WITH THE TERMS OF SUCH LICENSE AND WITH THE
NCLUSION OF THE ABOVE COPYRIGHT NOTICE. THIS SOFTWARE OR ANY OTHER

IES THEREOF MAY NOT BE PROVIDED OR OTHERWISE MADE AVAILABLE TO ANY
1‘252;252%3“' NO TITLE TO AND OWNERSHIP OF THE SOFTWARE IS HEREBY

THE INFORMATION IN THIS SOFTWARE IS SUBJECT TO CHANGE WITHOUT NOTICE
?33?032??53 NOT BE CONSTRUED AS A COMMITMENT BY DIGITAL EQUIPMENT

DIGITAL ASSUMES NO RESPONSIBILITY FOR THE USE OR RELIABILITY OF ITS
SOF TWARE ON EQUIPMENT WHICH IS NOT SUPPLIED BY DIGITAL.

!.'.'..l"".'.'."t'l""""""."""""""""i..t'.t'iiti'i"'..'."

E Facility: VAX/VMS Analyze Facility, Analyze Things for Prolog 2
Abstract: This module is responsible for analyzin? various structures
in prolog 2 indexed files. It also includes those routines

that are common to prolog 2 and 3.

Environment:
Author: Paul C. Anagnostopoulos, Creation Date: 11 March 1981
ModifieZ By:

v03-005 PCA1012 Paul C. Anagnost oulos 6-Apr-1983
Change the bucket size check so that it uses the new_
literal value BKTSC_MAXBKTSIZ. The maximum bucket size
was increased, so a literal value was a good idea.
Add code to handle the new total area allocation field
in the area descriptor.

v03-004 PCA1011 Paul C. Anagnostopoulos 1-Apr-1983
Change the message prefix to ANLRMSS_ to ensure that
message symbols are unique across all ANALYZEs. This
is necessitated by the new merged message files.

v03-003 PCA1001 v Paul (. Anagnostopoulos 12-0ct-1982
Clean up this module to make it more consistent with

3:53:24 AX=11 Bliss=32 V&.0=742
14=-Sep-1984 i1:23:§9 !ANALYZ.SRE RMS21DXx.B32;1

Rtitle "RMS2IDX = Analyze Things for Prolog 2 Indexed Files'

!.".."'.."."..".."""l"""""'.""""""'.'C""'l.'."'.."'."

]
L
]
*
.
L]
*
L
]
*
]
]
*
.
L]
*
*
]
L ]
]
]

Page
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= Analyze Things for Prolog 2 Indexed f 1§-Sep-1986 %3:53:;3

D e —

v03-002

v03-001

AX=11 Bliss=32 v&.0-742
14=Sep=-1984 11:52: ANALYZ.SRCIRMS2IDX.B32;1

the prologue 3 stuff in RMS3IDX, particularly where
SIDRs are concerned. Remove all 5f the alignment
information from the area descriptor display. Add the
new Quadword key data types.

PCAOO0T Paul Anagnostopoulos 16-Mar-1982
Remove logic for prologue 3 data type array in key
descriptor. [t's been decommitted for V3A.

PCAQ002 Paul Anagnostopoulos 16-Mar-1982
Don't display root and data bucket VBNs if the index
is not initialized.

Page
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RMS2IDX = Analyze Thin s for Prolog 2 Indexed F 15-Sep=-1984 23:53:24 Ax=11 isg= 4&.0-74
Mcdule Declaral ’ y : 1&-508- 1984 gl:?i:iO ANALVIoglc Rg§2¥01903231

0;1 { !sbttl 'Module Declarations’
8;5 } E Libraries and Requires:
075 1
079 1 Library 'Lib’;
827 } require 'rnsreq H
0383 1 1
8233 } s Table of Contents:
0590 1
0591 1 forward routine
859; 3 anl$idx_prolog: novalue,
595 1 anlSarea descriptor: novalue,
059 1 anlSkey_descriptor,
0595 1 anl$2bucket_header,
0596 1 anl$2index_record,
0597 1 anl$2primafy_ data_record,
0598 1 anl$2format_primary_key: novalue,
599 1 anl$2sidr_record,
068? } anl$2sidr_pointer;
060% 1!
828‘ } ; External References:
0605 1
external routine
0606 1 t | ti
0607 1 anl$bucket,
1 anl$bucket _callback,
0609 1 anlScheck_Tlags,
0610 1 anl$data_callback,
0611 1 anl$format_error,
061§ 1 anl$format_flags,
061 1 anl$format” hex,
0614 1 anl$format_Line,
0615 1 anl$format_ski
0616 1 anl$index_call ack
83}; } anlSprepare_quoted_string;
0619 1 external
0620 1 anl$gb_mode: b
0621 1 anl$gl-fat: ef b(ock[ bytel,
82% } anlSgw_ prolog word;
0624 1 ! {
' Own Variables:
3 | | o vorten
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RMS21DX RMS2IDX = Analyze Things for Prolog 2 Indexed f 1?-30 «1984 23:53:24 AX=11 Bliss=32 v4.0-742 Pa 4
VO‘-&OO ANL‘IDI_PIO{DG - forn.? and Check gn Indexed Fi 14-502-1984 %1:53:%9 ANALYZ.SRCIRMSZ2IDX.B32;:1 - (3
} 1 0627 } §2ettl 'ANLSIDX_PROLOG = Format and Check an Indexed File Prolog’
1 ; §§ 3 1 | Functional Description: :
124 0 1! This routine is reponsible for formatting a report and checking
} 5 0631 } ; the prolog of an indexed file,
1 ? 82 ; 1 | Formal Parameters:
128 06 s 3 prolog_bsd A BSD describing the prolog. .
129 0635 1! repor A boolean, true it we are to print a report.
} 1 82 } ; indent_Llevel The indentation Level of the report.
1 8 1 Implicit Inputs:
} i §§‘3 } ; global data
135 0641 1 | Implicit Outputs:
} $ 062; } 5 global data
}gg §§2g } g Returned Value:
140 ou.g 1 p—
}:1 822‘ } ; Side Effects:
u.i 0649 1 ie==
144 0650 1
145 0651 1
}29 822; global routine anl$idx_prolog(prolog_bsd,report,indent_Llevel): novalue = begin
148 0654 bind
}gg 8232 p = .prolog_bsd: bsd;
151 0657 local
}gg 8223 sp: ref block[,bytel;
128 2T % 165 con stors viun oi¥ o § e Sruien < 8 "
- can start r to an ormat the prolog i1f requested. egin wit
};9 822; g ! a nice heading ’ v ’ - i
158 0664 g sp = .plbsd$l_bufptr];
159 0665 it .report then ( )
160 0666 anl$format_Line(3,.indent_Llevel ,anlrms$_idxprolog);
121 %7 anl$format “skip(0);
}gg 88 8 ! Format the first area VBN and number of areas.
=22 82;1 anl$format_Line(0,.indent_Level+1,anlrms$_idxproareas,.splplg$b_amax],.splplgsb_avbnl);
}gz 82;‘ i ! Format the prolog version number.
}98 82;2 F anl$format_Line(0,.indent_Llevel+1,anlrms$_prologver,.splplgSw_ver_nol);
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l Analyze Things for Prolog 2 Indexed f IS- ep=-19 AX=11 Bliss=32 v&.0-742
OLOG = Format and Check on- Indesed F§ 1&-5..-1931 f1:33:85  Panal v et tea%is?,

! Now we can check the prolog. Make sure the area information is reasonable.
it .so[plgtb avbn] Lssu 8 or

e
g
% i

~

: 17;

R il

;175 0 «Sp plgtb amax]) eqlu then

: };9 1 $format_error(anlrms$_badarearoot,.plbsd$l_vbnl);
: 178 §§ return;

: 180 85 1 end;

LTITLE RMS2IDX RMS2IDX = Analyze Things for Prolog 2 |
ndexed F
IDENT  \v04-000\

LEXTRN ANLRMSS_OK, ANLRMSS_ALLOC
JEXTRN ANLRMSS ANYTHING

.EXTRN ANLRMSS BACKUP, ANLRMSS_BKT
.EXTRN ANLRMSS BKTAREA
.EXTRN ANLRMSS “BKTCHE CK
JEXTRN ANLRMSS BKTFLAGS
.EXTRN ANLRMSS BKTFREE
.EXTRN ANLRMSS BKTKEY, ANLRMSS_BKTLEVEL
LEXTRN ANLRMSS BKTNEXT

.EXTRN ANLRMS$ BKTPTRSIZE

.EXTRN ANLRMSS BKIRECID

.EXTRN ANLRMSS BKTRECID3

.EXTRN ANLRMSS BKTSAMPLE

.EXTRN ANLRMSS “BKTVBNF REE

.EXTRN ANLRMSS BUCKETSIZE

LEXTRN ANLRMSS CELL, ANLRMSS_CELLDATA
.EXTRN ANLRMSS CELLFLAGS

JEXTRN ANLRMSSCHE CKHDG

.EXTRN ANLRMSS"CONTIG, ANLRMSS_CREATION
CEXTRN ANLRMSS CTLSIZE

.EXTRN ANLRMSS DATAREC

"EXTRN ANLRMSS™ DATABK!VBN

.EXTRN ANLRMSS DUMPHEAD IN

.EXTRN ANLRMSS EOF AnLanss ERRORCOUNT
.EXTRN ANLRMSS ERRORNON
.EXTRN ANLRMSS ERRORS ANLRHSS_EIPIRA!ION
.EXTRN ANLRMSS FILEATTR
JEXTRN ANLRMSS™F ILEHDR
.EXTRN ANLRMSS™ FlLElD ANLRMSS_F ILEORG
.EXTRN ANLRMSSF ILESPEC

LEXTRN ANLRMSSFLAG, ANLRMSS_GLOBALBUFS
JEXTRN ANLRMSS HEXDATA

JEXTRN ANLRMSS$ HE XHEAD ING1

LEXTRN ANLRMSS HE XHEAD ING2

JEXTRN ANLRMSS”IDXAREA

.EXTRN ANLRMSS™1DXAREAALLOC

.EXTRN ANLRMSS”IDXAREABKTSZ

.EXTRN ANLRMSS”IDXAREANEXT

LEXTRN ANLRMSS ™ 1DXAREANOALLOC

.EXTRN ANLRMSS”IDXAREAQTY

.EXTRN ANLRMSS™IDXAREARE CL

.EXTRN ANLRMSS”IDXAREAUSED

.
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NLSIDX_PROLOG = Forma Check an Indexed Fi 14=-Sep-19
EXTRN
EXTRN
LEXTRN
EXTRN
EXTRN
EXTRN
EXTRN
LEXTRN
EXTRN
EXTRN
EXTRN
EXTRN
EXTRN
EXTRN
EXTRN
EXTRN
EXTRN
LEXTRN
EXTRN
EXTRN
EXTRN
EXTRN
EXTRN
EXTRN
EXTRN
EXTRN
EXTRN
EXTRN
EXTRN
EXTRN
EXTRN
EXTRN
EXTRN
EXTRN
.EXTRN
.EXTRN
EXTRN
EXTRN
EXTRN
EXTRN
.EXTRN
EXTRN
EXTRN
EXTRN
LEXTRN
EXTRN
.EXTRN
EXTRN
EXTRN
EXTRN
LEXTRN
.EXTRN
EXTRN
.EXTRN
EXTRN
EXTRN
.EXTRN

6
ANALYZ.SRC lnSZlol.llz-l (&)

ANLRMSS _IDXKEY Ansnnss IDXKE YAREAS
ANLRMSS~ 1DXKE Y8
ANLRMSS " IDXKEYBYTES
ANLRMSS” IDXKEY1TYPE
ANLRMSS ™ IDXKE YDATAVBN
ANLRMSS " IDXKEYF ILL
ANLRMSS IDXKE YFLAGS
ANLRMSS” IDXKEYKEYSZ
ANLRMSS” 1 DXKE YNAME
ANLRMSS " IDXKE YNEXT
ANLRMSS " IDXKE YMINRE C
ANLRMSS” IDXKE YNULL
ANLRMSS " 1DXKE YPOSS
ANLRMSS~ 1DXKE YROOTL VL
ANLRMSS$ " IDXKE YROOTVEN
ANLRMSS” IDXKEYSEGS
ANLRMSS_ IDXKEYSIZES
ANLRMSS " 1DXPR IMRE
ANLRMSS ™ IDXPRIMRECFL
ANLRMSS " IDXPRIMREC 1D
ANLRMSS” 1DXPR IMRE CLEN
ANLRMSS 1DXPR IMRE CRRV
ANLRMSS 1 DXPROAREAS
ANLRMSS” 1DXPROLOG
ANLRMSS " IDXREC, ANLRMSS_IDXRECPTR
ANLRMSS " IDXSIDR
ANLRMSS”1DXSIDRDUPCNT
ANLRMSS~1DXSIDRFLAGS
ANLRMSS " IDXSIDRREC 1D

ANLRMSS " 1DXSIDRPTRFLAGS
ANLRMSS " 1DXS IDRPTRREF
ANLRMSS ~ INTERCOMMAND
ANLRMSS” INTERHDG
ANLRMS$ ~L ONGRE C
ANLRMSS “MAXRE CS1ZE
ANLRMSS “NOBACKUP
ANLRMSS “NOE XPIRAT 10N
ANLRMSS “NOSPANF ILLER
ANLRMSS ~PERF ORM
ANLRMSS “PROLOGF LAGS
ANLRMSS$ “PROLOGVER
ANLRMSS "PROT, ANLRMSS RECATTR
ANLRMSS™ nscrnt ANLRMSS _RECLAIMBKT
ANLRMSS "RELBUCKE T
ANLRMSS "RE L EOF VBN
ANLRMSS “RELMAXRE C
ANLRMSS “RELPROLOG
ANLRMSS REL1AB, ANLRMSS_REVISION
ANLRMSS”STATHDG
ANLRMS$S~SUMMARYHDG
ANLRMSS “OWNERU]I
ANLRMSS"JNL, ANLRMSS AlJNL
ANLRMSS ™ a{JuL. ANLRMSS_ATJNL
ANLRMSS "ATTOP ANLRHS$ BADCMD
ANLRMSS “BADPATH
ANLRMSS "BADVBN, ANLRMSS_DOWNHELP
ANLRMSS "DOWNPA fH

AGS
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3¢ §1:33:85

LEXTRN

EXTRN

AX=11 llis =32 V4.0-742
ANALYZ.SRC lﬂSZlDl.lSZ:i

ANLRMSS _EMPTYBKT

ANLRMSS_NODATA, ANLRMSS_NODOWN
ANLRMSS _NONEXT, ANLRMSS_NORECLAIMED
ANLRMSS® NORECS ANLRMSS_NORRV

LI
LS

ANLRHSS FDLS

ANLRMSS FDLF ILE

ANLRMSS " FDLALLOC

ANLRMSS "F DLNOALLOC

ANLRMSS “FDLBEST TRY

ANLRMSSFDLBUCKETSIZE

ANLRMSS FDLCLUSTERSIZE

ANLRMSS “FDLCONT 16

ANLRMSS “FDLEXTENS ION

ANLRMSS "F DL GLOBALBUF S

ANLRMSS " F DLMAXRE CORD

ANLRMSS “FDLF I LENAME

ANLRMSS_FDLORG, ANLRMSS_FDLOWNER

ANLRMSS " FDLPROTECTION

ANLRMSS ~F DLRE CORD

ANLRMSS "F DL SPAN

ANLRMSS FDLCC, ANLRMSS_FDLVFCSIZE

ANLRMSS FDLF ORMAT

ANLRMSS FDLS1ZE

ANLRMSS "FDLAREA

ANLRMSS FDLKEY, ANLRMSS_FDLCHANGES

ANLRMSS "FDLDATAAREA

ANLRMSS FDLDATAF ILL

ANLRMSS "FDLDATAKE Y COMPB

ANLRMSS “F DLDATARE C COMPB

ANLRMSS "F DLDUPS

ANLRMSS "F DL INDE XARE A

ANLRMSS "F DL INDE XCOMPB

ANLRMSS “FDL INDEXF ILL

ANLRMSS "FDLL 1 INDE XAREA

ANLRMSS "F DLKE YNAME

ANLRMSS “F DLNORECS

ANLRMSS "F DLNULLKE Y

ANLRMSS ~F DLNUL L VAL UE

ANLRMSS "F DLPROLOG

ANLRMSS "FDL SEGLENGTH

ANLRMSS "F DL SE GPOS

ANLRMSS “FDLSEGTYPE

ANLRMSS F DLANALAREA

ANLRMSS “FDLRECL

ANLRMSS "F DLANALKE Y

ANLRMSS "F DLDATAKE YCOMP

ANLRMSS "F DLDATARE C COMP

ANLRMSS “FDLDATARECS

ANLRMSS “FDLDATASPACE

ANLRMSS “FDLDEPTH

ANLRMSS "F DL DUPSPER

ANLRMSS “F DL 1DXCOMP

Page
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JPROLOG = Format and Check an Indexed Fi 14=Sep=1
EXTRN
EXTRN
EXTRN
LEXTRN
EXTRN

ANALYZ.SRC ﬂHSZIDl.B32 1

ANLRMSS FDLIDXFILL
ANLRHS: FOLIDXSPACE

z
—
3
wy
‘l
e d
~—
—
e
Bl
~
- 0
'
m
™
w

ANLRMSS_STATDEPTH
ANLRMSS_STATIDXL1REC
ANLRMSS_STAT IDXLENME
ANLRMSS_STATIDXSPACE
ANLRMSS_STATIDXFILL
ANLRMSS_STATIDXCOMP
ANLRMSS_STATDATARECS
ANLRMSS_STATDUPSPER
ANLRMSS_STATDATAL ENME AN
ANLRMSS_STATDATASPACE
ANLRMSS_STATDATAF ILL
ANLRMSS_STATDATAKE Y(COMP
ANLRMSS_STATDATARECCOMP
ANLRMSS” TATEFFICISNCV
ANLRMSS _BADAREA1ST
ANLRHSS -BADAREABKTSIZE
ANLRMSS_BADAREAF I T
ANLRMSS_BADAREAID
ANLRMSS_BADAREANEXT
ANLRMSS _BADAREAROOT
ANLRMSS _BADAREAUSED
ANLRMSS “BADBKTAREAID
ANLRMSS _BADBK T CHE CK
ANLRMSS _BADBK TFREE
ANLRMSS _BADBKTKEYID
ANLRMSS “BADBKTLEVEL
ANLRMS$ “BADBKTROOTBIT
ANLRMSS _BADBK TSAMPLE
ANLRMSS “BADCELLFIT
ANLRMSS _BADCHE CKSUM
ANLRMS$ “BADDATARECBITS
ANLRMSS “BADDATARECFIT
ANLRMSS _BADDATARECPS
ANLRMSS _BAD3IDXKEYFIT
ANLRMSS _BADIDXLASTKEY
ANLRMSS “BAD IDXORDER
ANLRMS$ _BADIDXRECBITS
ANLRMSS " BADlDXREC;g
1

;M

ANLRMSS “BAD IDXREC
ANLRMSS “BADKE YAREA
ANLRMSS “BADKE YDATABK T
ANLRMSS _BADKE YDATAF I T
ANLRMSS “BADKEYDATATYPE
ANLRMSS “BADKEYIDXBKT
ANLRMSS “BADKEYF ILL
ANLRMSS “BADKEYF I T
ANLRMSS “BADKE YREF 1D
ANLRMSS “BADKE YROOTLEVEL
ANLRMSS _BADKE YSEGCOUNT

E
T
T
D

Page
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VOQ-&OO ANL ilbl PROLOG,- fFormat and Check an 2 lndtl:s Fi 14~ :3-1932 ‘? ?3 ; ANALVIagﬂz Rz§2¥01983221 S (62

EXTRN ANLRMSS_BADKEYSEGVEC

EXTRN ANLRMSS_BADKEYSUMMARY

EXTRN ANLRMSS_BADREADNOPAR

EXTRN ANLRMSS_BADREADPAR

EXTRN ANLRMSS_BADSIDRDUPCT

EXTRN ANLRMSS_BADSIDRPTRFIT

EXTRN ANLRMSS_BADSIDRPTRSZ

.EXTRN ANLRMSS BADSIDRSIZE

EXTRN ANLRMSS_BADSTREAMEOF

EXTRN ANLRMSS_BADVBNF REE

.EXTRN ANLRMSS_BKTLOOP

EXTRN ANLRMSS_EXTENDERR

.EXTRN ANLRMSS_FLAGERROR

+EXTRN ANLRMSS MISSINGBKT

EXTRN ANLRMSS_NOTOK, ANLRMSS_SPANERROR
.EXTRN ANLRMSS”TOOMANYRECS

.EXTRN ANLRMSS_UNWIND, ANLanss VFCTOOSHORT
.EXTRN ANLRMSS”CACHEFUL

.EXTRN ANLRMSS” CACHERELFAIL

LEXTRN ANLanss FACILITY

.EXTRN ANLSBUCRET, ANLSBUCKET_CALLBACK
.EXTRN ANLscuecx FLAGS

LEXTRN ANLSDATA CALLBACK

.EXTRN ANLSFORMAT_ERROR

.EXTRN ANLSFORMAT FLAGS

.EXTRN ANLSFORMATZHEX, ANLSFORMAT_L INE
.EXTRN ANLSFORMAT SKIP

LEXTRN ANLSINDEX CALLBACK

.EXTRN ANLSPREPARE _QUOTED_STRING
.EXTRN ANLSGB_MODE, ANLSGL_FAT

.EXTRN ANLSGW PROLOG

.PSECT SCODES,NOWRT,2

003C 00000 .ENTRY ANLSIDX PROLOG, Save R2,R3,R4,RS : 0652

55 00006 CF 9E 00002 MOVAB  ANLSFORMAT L INE, RS ;
54 046 AC DO 00007 MOVL  PROLOG aso R&4 : 0655
52 0C A4 DO 0000B MOVL  12(R&)T i 0664
40 08 AC E9 0000F BLBC  REPORT. 1s : 0665
000000006 8F DD 00013 PUSHL  #ANLRMSS 1DXPROLOG : 0666

0C AC DD 00019 PUSHL  INDENT_LEVEL ;

03 DD 0001C PUSHL  #3 :

65 03 FfB 0001€E CALLS 03 ANLSFORMAT JLINE :
7€ D4 00051 CLRL ($P) 0667

0000G CF 01 FfB 00023 CALLS 01 ANLSFORMAT_SKIP :
7€ 66 A2 9A 00028 MOVZBL 1o§(sv) -(SP) ;06N

7€ 67 A2 O9A oooic MOVZBL 103(SP). =(SP) ;

000000006 8F DD 800 0 PUSHL  #ANLRMSS I1DXPROAREAS ;

53 0C AC 01 C1 00036 ADDL3  #1, INDERT_LEVEL, R3 ;

53 DD 00038 PUSHL R3 ;

7€ D4 0003D CLRL  =(SP) ;

65 05 FB 0003F CALLS #5, ANLSFORMAT _LINE -
7€ 764 A2 3C 00042 MOVZIWL 116(SP), =(SP)~ : 0675

000000006 8F DD 00046 PUSHL  #ANLRMSS_PROLOGVER ;

53 DD 8004c PUSHL  R3 ;

76 D4 0004E CLRL  =(SP) :

65 04 FB 00050 CALLS  #4, ANLSFORMAT_LINE ;
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RMS21DX RMS2IDX = Analyze Things for Prolog 2 Indexed F 15-Sep~19 :53:24 AX=11 Bliss=32 v4.0-742 o 10
v02-&80 ANL IDI-PROLOG,- Forna? and Check gn Indexed Fi 1&-503-1932 f?:22:§9 ANALVZ.SR(’RHSZIDI.832;1 st (&)
02 66 A2 N 005; 1%: (MPB 102(sP), #2 : 0679

05 1F 0005 BLSSU 2% s
67 A2 95 00059 1ST8 103(SP) : 0680

0E 12 0005C BNEQ 3 :
04 A4 DD 000SE 2%: PUSHL &(Ré4) : 0681

000000006 8F DD 00061 PUSHL  #ANLRMSS BADAREAROCT :

00006 CF 02 FB 00067 CALLS  #2, ANLSFORMAT_ERROR ;
04 0006C 3%: RET : 0685

| ¢ Routine Size: 109 bytes, Routine Base: $CODES + 0000
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RMS21DX RMS2IDX = Analyze Things for Prolog 2 Indexed F 15-Sep=1984 23:53:24 AX=11 Bliss=32 v4.0-742
v04-600 ANLSAREA,DES(R‘PTOR: Cgeck and Forgot an Area D 14-5:3-1984 %1:52:%9 !ANALYZ.SRC RMS21DX.B32;1

}gi 82% } ?f?ttl *ANLSAREA_DESCRIPTOR: Check and Format an Area Descriptor’

184 0688 1 ! Functional Description:

185 0689 1! This routine is responsible for checking the content of an area

}gg 823? } E descriptor and optionally printing a formatted report of it.

188 0692 1 ! Formal Parameters:

189 06935 1! the_bsd The address of a BSD describing the area descriptor.
190 0696 1 ! ) We update the BSD to describe the next one.

191 0695 1! area_id Alleged ID of this area.

19; 0696 1 ! report A boolean, true if we are to print a report.

19 0697 1! indent_Llevel The indentation level of the report.

194 0698 1 !

195 0699 1 ! Implicit Inputs:

196 0700 1! global data

197 0701 1!

198 0702 1 ! Implicit Outputs:

199 0703 1! global data

200 0704 1 !

201 0705 1 ! Returned Value:

202 0706 1! none

203 0707 1!

204 0708 1 ! Side Effects:

205 0709 1!

206 0710 1 !==

207 0711 1

208 0712 1

5?8 8;}2 % global routine anl$area_descriptor(the_bsd,area_id,report,indent_Level): novalue = begin
21 0715 2 bind

212 0716 2 b = .the_bsd: bsd;

213 0717 2

214 0718 2 local

215 0719 2 sp: ref block[,bytel,

216 0720 2 next_id: long;

217 0721 2

218 0722 2 : )

219 0723 2 ! Since we know we have 64 bytes in the block, we don't have to check that
220 0724 2 ! things actually fit in the block. :

221 0725 2 ! So we can start right off and format the report if requested. Begin with
%g% 8;59 % ! a nice header containing the area id.

224 0728 g sp = .bl[bsd$|_bufptr] + .blbsd$l _offset];

225 0729 if .report then ( : ) :

226 0730 3 anleoruat_ltne(L..1ndent_le§el.anlrnss_1dxarea..sp[areaib,areamd].
227 0731 3 . blbsd$L_vbnl,.blbsd$l_offsetl);

228 0732 3 anl$format_skip(0);

229 0733 3 ;

53? 8;;2 % ! Format the area bucket size.

%%% 8;?? g anl$format_Line(0,.indent_Llevel+1,anlrms$_idxareabktsz,.splarea$b_arbktsz]);
3§§ 8;%3 g ! Format the reclaimed bucket pointer. I[It's only used for prolog 3.
23%6 0740 3 if .anl%gw grolog eqlu plg$c_ver_3 then ) ;
535 8;2} g an{8format_Line(0,.indent_Level+1,anlrms$_idxarearec!l,.splarea$l_availl);
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‘IHSZ DX RMS21DX - Anek{ze Things for Prolog 2 Indexed f 1!-809-1982 i?gggggg ¥:l-11 Blisi-lz V4.0-742

04-000 ANLSAREA_DESCRIPTOR: Check and Format an Area D 14-Sep=19 NALYZ.SRCIRMS21DX.B32;1
39 743 : Format the info describing how much of the current extent has been
2? o;zg ! used up.
4 0746 anl$format_Line(0,.indent_Level+l,anlrms$_idxareaused,.splarea$l_cvbnl,
g:‘ 8;2; .splarea$T_cnblk],.splareas|_used],.splarea$l_nxTvbnl);
222 8;28 ! Format the info describing the next extent, if present.
247 0751 it .splarea$l_nxt] nequ 0 or .splarea$li_nxblk] nequ 0 then
248 075% anl$format_Line(0,.indent_Llevel®1,anlrms$_idxareanext,
%gg 8;3‘ .splareasT_nxt],.splarea$T_nxblkl);
531 8;22 ! Format the default extend quantity.
%g% 8;3; anl$format_Line(0,.indent_Level+1,anlrms$_idxareaqty,.splareaSw_deql);
255 0759 g ! If an extent has been allocated but the total allocation is zero,
256 0760 3 . then this file was created before the total allocation field
257 0761 3 ! existed. Just put out a comment. Otherwise, we can put out the
%gg 8;2% g ! total area allocation.
260 0764 3 it .splarea$l_cvbnl nequ 0 and .splarea$l_total_alloc] eqlu 0 then
261 0765 3 anl$format_Line(0,.indent_Level+1,anlrms$_idxareanocalloc)
262 0766 3 else :
%gz 8;2; 3 ) anl$format_Line(0,.indent_level*1,anlrms$_idxareaalloc,.splarea$l_total_ailoc]);
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RMS2IDX = Anclyzo Things for Prolog 2 Indexed F 12-529-19 & 7?323553 ¥A1-11 Bliss=32 v4.0-742

ANLSAREA_DESCR

PTOR: ¢ ANALYZ.SRCIRMS2IDX.B32;1

: Now we are going to check the contents of the area descriptor. This is
: @ fairly rigorous test, but doesn't check anything that requires looking
! at other structures.

eck and Format an Area D 14=Sep-1984

! Start be ensuring that the first two bytes area unused.

if .spl0,0,16,0] nequ 0 then
an[Sfornat_error(anlrnsi-badarea1stZ..b[bsdtl_vbn]..area_id);

! Make sure the area ID is correct

it .splareaSb_areaid] nequ .area_id then = :
anl$format_error(anlrms$_badareaid,.b[bsd$l_vbnl,.splarea$b_areaidl,.area_id);

! Check the area bucket size.

if .splareas$b_arbktsz) Lssu 1 or .splarea$b_arbktsz] atru bkt$c_maxbktsiz then :
anl$format_error(anlrms$_badareabktsize,.bl(bsd$l_vbnl,.Splarea$b_arbktsz],.area_id);

: We ought to check the current extent information at this point, but no
: one can tell me how it is used. So the code is commented out for now,
! and a !!!TEMP!!! flag marks the situation.

'if .splarea$l_used] gtru .splarea$l_cnblk] or
! .splareaSl_cvbnl+.splarea$l_used] nequ .splarea$l_nxtybn] then
: anl$format_error(anlrms$_badareaused,.blbsd$l vbnl);

! The two items describing the next extent must both be absent or both present.

LASLAN IS LN LN L NN LN LN L NI NN LN L NN LN NN LN LN LN N

it .splarea$l_nxt] eqlu 0 xor .splarea$l_nxblk] eqlu 0 then _
anl$format_error(anlrms$_badareanext,.bl[bsd$l_vbnl,.area_id);
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ANLSAREA DESCRIPTOR: C 10-300-1086 11:33:85 Fanalvzosaesnns Yeatess? Page B

F
k and Format an Area D 14-Sep-1984 ANALYZ.SRCIRMS21IDX.B32;:1

g ! Now we want to advance on to the next area descriptor, if there is one.

99 g 8 ! Begin by reading in the first prolog block.
01 gO‘ blbsd$L _vbnl = 1;
8; §38§ anlSbucket(b,0);
82 038? ! Determine the id of the next area, or this area again if it's the last one.
0 sp = .blbsd$l bufptrl;
§z 8g§§ next_id = -inG(.agoa_?d‘1..sp[plgtb-ana:]-1):
?8 8§}i ! Now read in the appropriate block and set the offset.
1" 081 blbsd$L_vbnl = .splplg$b_avbn] ¢ .next_id / (512/area$¢c_blin);
1; 881& blbsd$l _offset] sp.gegt_Td mod (512/area$c_bln) * area$c_bin;
}‘ og}S anlSbucket(b,0);
}S 83}2 return;
1? 0819 1 end;
007C 00000 .ENTRY ANLSAREA DESCRIPTOR, Save R2.R3,.R4&,RS.,.R6 : 0713
56 00006 CF 9E 0000; MOVAB  ANLSFORMAT_ERROR, R6 :
55 0000G CF 9t 0000 MOVAB ANLSFORMAT LINE, RS s
53 04 AC DO 0000C MOVL THE BSD, R : 0716
52 0C A3 08 A3 1 00010 ADDL3  B(R3), 12(R3), sP : 0728
03 0C AC 58 00016 BLBS REPORT, 1% : 0729
00B4 31 0001A BRW 6% :
[43 A3 70 0001D 1%: MOvQ 4&(R3), =(SP) : O7TH
7€ 02 A2 9A 00021 MOVZBL 2(SP), =(SP) : 0730
000000006 8F DD 00025 PUSHL  #ANLRMSS IDXAREA :
10 AC DD 00028 PUSHL  INDENT_LEVEL $
04 DD 000§E PUSHL #4 F
65 06 FB 00030 CALLS #6, ANLSFORMAT_L INE :
7€ D4 00033 CLRL -(SP) : 07%2
00006 CF 01 B 00035 CALLS #1, ANLSFORMAT_SKIP :
7E 03 A2 9A 0003A MOVZBL 3(SP), =(SP) : 073%6
000000006 8F DD Q003€ PUSHL - #ANLRMSS IDXAREABKTSZ :
54 10 AC 1 €1 00044 ADDL #1, INDERT_LEVEL, R4 $
& DD 00049 PUSHL R4 3
7€ D& 00048 CLRL -(SP) 3
65 04 FB 80040 CALLS ¥4, ANLSFORHAT_L;NE :
03 00006 CF B1 00050 CMPW ANLSGW_PROLOG, # : 0740
10 12 00055 BNEQ t 3
08 A2 0D 00057 PUSHL (SP) : 0741
000000006 B8F DD OOOQSA PUSHL  #ANLRMSS_IDXAREARECL 3
5¢ DD 00060 PUSHL Ré 3
7€ D4 00062 CLRL -(SP) :
95 04 FB 80064 CALLS  #4, ANLSFORMAT_LINE :
E 14 A2 7D 00067 2%: MOVQ 20(SP), =(SP) : 0747
7E 0C A 70 80068 MOove 12(SP), =(SP) : 0746
000000006 8¢ DD 000cF PUSHL  #ANLRMSS_IDXAREAUSED :
5¢ DD 00075 PUSHL R& 3
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6%:

7%:

8%:

9%:
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B 11:33185

znl-tl !lis!-lz vé.0-742
ANALYZ.SRCIRMS2IDX.B32:1

-(SP)
#7, ANLSFORMAT L INE
(sP)

3 (SP)

28(SP), =(SP)
:2“LRH§S_ID!AREANEI!
-(SP)

#S, ANLSFORMAT_L INE
36(SP), =(SP)
:2ntnn§s_loxnaerrv
-(SP)

#%, ANLSFORMAT L INE
12(sP)

5
30(sP)
JANLRMSS_IDXARE ANOALLOC

-(SP)
lg, ANLSFORMAT _L INE

0(SP)
FANLRMSS _IDXAREAALLOC

-(SP)
#4, ANLSFORMAT L INE
(SP)

7%

AREA_1D

4&(R3Y

#ANLRMSS BADAREA1ST?
#3, ANLSFORMAT_ERROR
AREA_ID, R&

:2, #8, 2(SP), R&

R4

2(SP), =(SP)

4(R3)

#ANLRMSS BADAREAID
#4, ANLSFORMAT_ERROR
siép)

9

3(SP), #63
10%

R4

3(SP), =(SP)

4 (R3)

FANLRMSS BADAREABKTSIZE
o, ANLSFORMAT _ERROR
28(SP)

118

R1

LR L L L L L L L R R I e L L E I I I I T I T I T T I T I T T T T T T " "y v
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0767

0775
0776

0780
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0798
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RMS21DX RMS2IDX = Anal ¢ Things for Prolog 2 Indexed F 15-Sep=-1984 23:53:24 AX=11 Bliss=32 V&,0=742 P 16
V02000 ANLSAREA DESCRIPTOR: CReck and Format an ires b 1o-seo-1980 §1:82:86  Paxaly Biissoig Ya.00142, Py
SO D& 00128 118: CLRL R P
20 A2 DS 0012A TSTL  32(SP) :
2 00120 BNEG 128 :
D 1¢F INCL R :
50 1 €O 00131 128:  ADDL2 R1, ag :
0€ 0 E9 001 BLBC ao. 3 :
& DD 00137 PUSHL : 0799
08‘ A3 DD 81 9 PUSHL £(n3) :
000000006 8F DD 001 PUSHL  #ANLRMSS BADAREANEXT :
62 03 F 14 CALLS #3, ANLSFORMAT_ERROR :
04 A 91 D0 00145 138:  mMovL  #1. 4(R3) : 0803
§ D4 00149 CLRL  =(§P) : 0804
53 DD 00148 PUSHL R3 :
00006 gr oi F8 0014D CALLS ng. ANLSBUCKET :
2 0C A3 DO 0132 MOVL  12(R3), SP : 0808
51 01 A4 9E 801 3 MOVAB 1(R4), R1 : 0809
50 67 A2 9A 0015A MOVZBL 103(SP), RO :
50 D7 0015€¢ DECL RO :
50 §1 D1 8o1eg CMPL  R1, RO :
G3 18 0016 BLEQU 148 :
51 50 DO 00165 MOVL RO, R1 :
50 51 DO 00168 148:  MOVL_  R1. NEXT_ID :
51 50 08 (7 00168 DIVLS #8. NEXT"ID, R1 : 0813
54 66 A2 9A 8o1or MOVZIBL 102(SP),"Ré4 :
04 A3 51 54 ;1 0173 ADDL3  R&, R1, 4(R3) :
7€ 00 50 01 7A 8817 EMUL  #1. NEXT xo, 20, =(SP) : 0814
50 50 13 08 73 17D EDIV  #8. (SP)¥, RO, RO :
08 A3 50 06 7 oo1a; ASHL ao ao 8(R3) :
75 D4 0013 CLRL ($P) : 0815
53 DD 00189 PUSHL  R3 :
00006 CF 02 FfB 00188 CALLS  #2, ANLSBUCKET :
04 00190 RET : 0819

; Routine Size: 401 bytes, Routine Base: $CODES + 006D
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G
X = A Thi for P -Sep-1984 :53:24 -1 iss= e
Si{g nal‘¥o ngs for Prolog 2 Indexed f 1? Sep }gg‘ i¥:23:§9 !Al 1 Blis 3% "x?i§3;1

Y_DESCRIPTOR = Print and Check a Key Desc 14-Sep- ANALYZ.SRCIRMS21D

ot

£

13 § ? } !:gttl *ANLSKEY_DESCRIPTOR = Print and Check a Key Descriptor’
1 i 1 | Functional Description:
i 1} This routine is responsible for printing and checking the contents
z 3 g } ; of an indexed file key descriptor.
S 8 ? 1 | Formal Parameters:
9 8 1! the_bsd The address of a BSD describing the key descriptor.
g ]! We update it to describe the next one.
8 0 1! key_id The alleged ID of this kgl.
9 0850 1! areas Address of a vector of 250 bytes, one per area.
88 Y 313 Contains the bucket size of each area. Optional.
1 8 g 1! report A boolean, true if we are to print a report.
i 882‘ } E indent_Llevel The indentation Level of the report.
4 0835 1 ! Implicit Inputs:
5 033? ] ! global data
08 1!
7 0838 1 ! Implicit Outputs:
38 0839 1! global data
39 0840 1!
0 0841 1 ! Returned value:
1 832; } ; True if there is another key descriptor, false if not.
4§ 084k 1 | Side Effects:
4 0845 1!
b 084? 1 le=
6 084 1
327 0848 1 . ; : h
3 gggg 2 global routine anl$key_descriptor(the_bsd, key_id,areas,report,indent_Level) = begin
50 0851 bind
51 085; b = .the_bsd: bsd,
Sg 085 areas_vector = .areas: vector[256,bytel;
5 0854
2% SEE 8 ™™l artears his sectaril.iunel ittt
e rimar er: vector LL0N mnitia
36 8359 gl _
57 0858 uplit byte (Rascic "KEYSV_DUPKEYS'),
58 0859 0,
59 0860 0,
0861 0. . <
Oggg uplit byte (Xascic "KEYSV_INITIDX")
8354 e
8365 key2_secondary_def: vectgr[b.long] initial(
086 uplit byte (Rascic 'KEYSV_DUPKEYS'),
0868 uplit byte (Rascic 'KEYSV_CHGKEYS'),
88 8 gpllt byte (Xascic "KEYSV_NULKEYS'),
83;1 ?6lit byte (Xascic "KEYSV_INITIDX')
087 -
8 ;g key3_primary_def: vector$9,long] initial(
0876 uplit byte (Rascic "KEYSV_DUPKEYS'),
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H
RMS21DX RMS21IDX = Analyze Things for Prolog 2 Indexed F 15-Sep=19 :53:24 AX=11 Bliss=32 v&.0-742
VOG-&OO ANL EV_DES(RIKIOR - P?int and Chegu a Key Desc 14-503-1932 i?:53:§9 !ANALVI.SIC RMS21DX.B832;1
7 77 »
B ;
78 7 uplit byte (Zascic "KEYSV_IDX_COMPR'),
79 8? 8plit byte (Xascic "KEYSV_INITIDX'),
1 g; uplit byte (XZascic 'KEYSV_KEY_COMPR'),
g 833‘ uplit byte (Xascic "KEYSV_REC_COMPR')
gg 0385 key3 d def tor[8,long) initial(
ey3_secondary_def: vector(8,lo nitia
86 839 6. b
87 888 uplit byte (Rascic "KEYSV_DUPKEYS'),
88 889 uplit byte (Zascic "KEYSV_CHGKEYS'),
89 0890 uplit byte (Rascic 'KEYSV_NULKEYS'),
90 0891 uplit byte (Zascic "KEYSV_IDX_COMPR'),
81 833 3plit byte (Xascic "KEYSV_INITIDX'),
9§ 0894 uplit byte (Rascic "KEYSV_KEY_COMPR')
94 0895 );
95 0899
96 089 local
97 0898 sp: ref block(,bytel,
98 0899 i: long,
99 0900 position: word, size: byte,
400 0901 total_size: long, required_record: long;
401 090
402 090 builtin
4«03 0904 nuliparameter;
404 0905
405 09 i
406 0907 : This Little internal subroutine receives a data type code and returns
28; Oggg ! the address of an ASCIC string naming the data type.
409 910 routine data_type_name(code) = begin
410 0911
611 091 own y
klg 091 data_types: vector(8,long] initial(
Y| 0914 uplit byte (Xascic 'sgrina').
414 0915 g uplit byte (Xascic 'signe uord')‘
415 0916 uplit byte (Xascic ‘unsigned word )‘
416 0917 3 uplit byte (Xascic 'signed lLongword )¢
67 0918 uplit byte (Xascic ‘unsigned longword'),
418 0919 uplit byte (Xascic ‘packed decimal')
419 89 0 uplit byte (Zascic 'signed quadword',
2%? Og i uplit byte (RXascic 'unsigned quadword')
4 09
42§ 89 & & return (if .code gtru key$c_max_data then uplit byte (!ascig "
424 925 g else .data_types(.codel);
425 0926 end;

TR T Y T T TR TR T TR L L R L L L L L Y T L L L L IR T L T ™ L.

LPSECT SPLITS NOWRT ,NOEXE,?2

53 59 45 4B 50 55 44 S5F 56 24 59 45 4B 0D 00000 P.AAA: L ASCII <13>\KEYS$SV_DUPKEYS\
58 44 49 54 49 4E 49 S5F 56 264 59 45 4B 0D OOOOE P.AAB: .ASCII <13>\KEYSV_INITIDX\

oD —
~ QD
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50
50

50

' 50

72
7
6C

72
7

60
&0

i

4D

58
4D

6Ff
67

61
6F

60
7

61

IDX = Anal
EY_DESCR]

6§ 4B 59
&5 B &
- “
¢ 8 5
@ % 8
34
&3 SF 59
.3
&5 B 5
27
&C
43 S5F 58
49
&3 S5F 59
6f
6fF 77 20
6f
6F 6C 20

69 63 65
64 61 75

7% 71 20

5
&
2
s
La
!

&5

9 4 AX=11 Bliss=32 v&.0-742
lfou = Print and Check a Key Desc 16-509-1934 i? gg §9 ANALYZ.SRCIRMS21DX.B32;1

F 56 26 59 45 4B 0D 0001C P.AAC: .ASCII <13>\KEYSV_DUPKEYS\

¥ 6 264 9 45 4B 0D 0002A P.AAD: .ASC!I <1 >\KEY$V CHGKEYS\

F S6 26 59 45 48 00 8 P.AAE: L.ASCII <13>\KEYSVONULKEYS\

F 6 [ 9 & 4] D 046 P.AAF: _ASCI] <« >\KEY$V INITIDX\

F 56 26 59 45 4B 0D 00054 P.AAG: .ASCII <13>\KEYSVZDUPKEYS\

F 6 24 9 45 4B 5 889? P.AAH: _ASCII <1S>\KEYS$SV® JIDX_COMPR\

F 26 54 29 45 4«8 0D 00;% P.AAL: _ASCII <13>\KEYSV_INITIDX\

F 6 26 59 4S5 4B 25 885F P.AAJ: LJASCII <I5>\KEYSV® KEY_COMPR\
SF 56 26 59 45 4B g; 803? P.AAK: .ASCII <15>\KEYSV_REC_COMPR\
SF 6 & 59 45 48 0D 808&0 P.AAL: LASCII <13>\KEYS$SV_DUPKEYS\

SF 56 24 29 45 4B OD OOOAE P.AAM: _ASCII <13>\KEYSV_CHGKEYS\

F 6 24 9 45 4B 0D 8008( P.AAN: LASCII <13>\KEYSV® JNULKEYS\

F 56 & 59 45 4B g; 08883 P.AAD: L.ASCII <15>\KEVSV IDX_COMPR\
SF 56 24 59 45 4B 0D OOODA P.AAP: .ASCII <13>\KEYSV_INITIDX\

S5F S6 264 59 45 4B gs 888;; P.AAQ: .ASCII <1S>\KEYSV" KEY_COMPR\
67 6E 69 7; 76 73 06 O0O0O0F8 P.AAR: .ASCII <6>\string\
66 65 6E 67 69 73 0B OO0OFF P.AAS: .ASCII <11>\signed word\
6E 67 69 73 6E 75 OD 0010B P.AAT: _ASCII <13>\unsigned word\
66 65 6E 67 69 73 2: 88}53 P.AAU: L.ASCII <15>\signed Longword\
6E 67 69 73 2E ;3 g; Og}gg P.AAV: _ASCIl <17>\unsigned longword\
646 65 6B 63 61 70 OF 80138 P.AAW: ,ASCII <14>\packed decimal\
64 65 6E 67 69 73 g: 88};3 P.AAX: LASCII <15>\signed quadword\
6E 67 69 73 6E 75 11 O0015A P.AAY: _ASCII <17>\unsigned quadword\
66 72 6F 00169
3F 3F 3F 03 0016C P.AAZ: .ASCII <3>\72272\
.PSECT SOWNS NOEXE,2
00000004 00000 KEY2 PRIHASVGDEF‘
00000000* 00004 .ADDRESS P.AAA
00000000 00000000 00000000 00008 -LONG
00000000* 00014 .ADDRESS P.AAB
00000004 00018 KEY2 SECON%AEV DEF
00000000* 00000000* 80000008' 001 .ADDRESS P.AAC, P.AAD, P.AAE
000000 002 LO 6
00000000* ooogc ADDRESS P.AAF
00000007 00030 KEY3 PR!HtSVGDEFT
00000000* 00034 .ADDRESS P.AAG
00000000 00000000 80038 LONG 0, 0
00000000* 00900000°* 00040 .ADDRESS P.AAH, P.AA]
00000000 00048 .LONG O
00000000* 00000000* 0004C ADDRESS P.AAJ, P.AAK
00000006 00054 KEY3 SECONgAav DEF
00000000* 00058 .ADDRESS P.AAL, P.AAM, P.AAN, P.AAD, P.AAP
00000000 0006C LONG 0

00000000* 00000000* 00000000* 00000000*

; ?
Things for Prolog 2 Indexed F 15-Sep~1
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00000000° 00000000* 00000000* 00000000° 00000000°* 00000000°

; Routine Size:

RMS2IDX = Ana
ANLSKEY_DESCR

28 bytes,

9
llzo Things for Prolog 2 Indexed f 1!-509-
IPTOR = Print and Check a Key Desc 14-Sep-

00000000 00070

06000000°* 00000000* 0008C

o7
51

51
50

Routine Base:

04 AC DO 008%
50 D1 000

07 18 00009

0000* CF 9E 00008

06 1 80 10
0000°CF40 DO 0013 1%
51 DO 00018 2%

04 00018

$CODES + O1FE

}ggz i?:g%;i: !Al-11 Bliss=32 vé4.0-742

ANALYZ.SRCIRMS21DX.B32:1

+ADDRESS P.AAQ

0074 DATA_TYPES:
.ADDRESS P.AAR, P.AAS, P.AAT, P.AAU, P.AAV, =

PSECT
0000 00000 DATA_TYPE_NAME :
QoRD

MOVL
CMPL
BLEQU
MOVAB
BRB
MOVL
MOvL
RET

P.AAW, P.AAX, P.AAY

$CODES ,NOWRT 2

Save nothing
COPE, RO
0, #7

P.AAZ, R1
DATA _TYPES[RO], R1
1. RO

NDV—-D
"

- g

LR TR TR PR TR TR TR TR T

0925
0924
0926
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2
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23332333
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K 9
= Analyze Things for Prolog 2 Indexed F 15-Sep-1984 23:53:;& E
RIPTOR = Print and Check a Key Desc 14=-Sep=-1984 11:52:59 ANALYZ.SRCIRMSZ2IDX.B32;:1

DE
'
:

)
F
b

C
i
L
z

rst thing we need to do is ensure that the key descriptor fits in the
ock. If not, we complain and signal a drastic error.

.0[bsdSL_bufptr] + .b[bsdSl _offset];
sp+key$c _Bln ?eqa .bfbsdtl,endptr] then (
anl$¥ormat_error(anirms$_badkeyfit,.blbsd$l_vbnl,.key_id);
signal (anTrms$_unwind);

AX=11 Bliss=32 v4.0-742 Page 21
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3 S ! Now we can format the key descriptor, if requested.
g it .report then (
0345 ! Begin with a heading, containing the key of reference number.
8961 anl$format_Line(3,.indent_Llevel, nlrns!_id:ke! .Splkey$Sb_keyref],
0945 bibsd$L_vbnl, .blbsdSL_offsetl):
832‘ anlSformat_skip(0);
0825 ! Now the next key VBN and offset, if present.
894 if .splkey$L_idxfl] nequ 0 then
0948 anl$Tormat_Line(0,.indent_Level+1,anlrms$_idxkeynext,
83?3 .splkey$i_idxfl],.splkeySw_noffl);
83;1 ! Now the area IDs.
83%4 3 anl$format_Line(0,.indent_level+1,anlrms$_idxkeyareas,.splkey$b_ianum]l,.splkey$b_Lanum],.splkey$b_da
83;2 g ! Now the index root level number.
88;; 3 anl$format_Line(0,.indent_Llevel+1,anlrms$_idxkeyrootlvl,.splkey$b_rootlev]);
8328 % ! Now the bucket sizes.
8321 % anl$format_Line(0,.indent_Llevel+1,anlrms$_idxkeybktsz,.splkey$Sb_idxbktsz],.splkey$b_datbktsz]);
882‘ g ! Now the root bucket VBN, if present.
0965 3 if not .splkey$Sv_initidx] then -
8329 g anl$format_Line(0,.indent_level+1,anlrms$_idxkeyrootvbn,.splkey$l_rootvbnl);
8323 g ! Now the flags.
0970 3 anl$format_flags(.indent_level+1,anlrms$_idxkeyflags,.splkey$b_flags],
0971 & (it .anls?u_prolog eqlu pl?Sc_ver-S then ;
0972 & it .splkey$b_keyref] eqlu 0 then key3_primary_def
0973 4 else key3_secondary_def
0974 & else X
0975 & if .splkeySb_keyref] eqlu 0 then key2_primary_def
0976 & else key2_secondary_def
0977 3 ));
0978 3
88;3 g ! Now the number of key segments.
83%} g anl$format_Lline(0,.indent_Level+1,anlrms$_idxkeysegs,.splkey$b_segments]);
8322 g ! Now the null character, if enabled.
0985 3 it .splkeySv_nulkeys] then !
8859 3 anl$Tormat_Line(0,.indent_Level+1,anlrms$_idxkeynull,.splkey$b_nullcharl);
8833 ! Now the total key size.
883? anl$format_Line(0,.indent_Llevel+1,anlrms$_idxkeykeysz,.splkey$b_keysz]);
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99§ ! Now the minimum record length.

gggg anl$format_Line(0,.indent_Level+1,anlrms$_idxkeyminrec,.splkey$w_minrecsz]);

833? ! Now the fill quantities.

8383 anl$format_Line(0,.indent_Level+1,anlrms$_idxkeyfill,.splkeySw_idxfilll,.splkeySw_datfilll);
}08? ! Now the segment positions and sizes.

anl$format_Line(0,.indent_Level+1,anlrms$_idxkeyposs,.splkey$b_segments],
.spLkeySw_position0), .splkeySw_positionll],
.spLkey$Sw_positiond], .splLkey$w_position3],
.SpLkey$w_position4], .splkey$w_position5]
.splkey$w_positionbl, .sp keytu_positioq?]’:
anl!fornat-lineto..1ndent_level01.anlrust_idxk$§s1zes..sp[hey!b_segments],

.Splkey$b_size0], .spLkey$b_size

.spLkey$b_size?dl, .Splkey$Sb_size3],
.splkey$b_sized], .splkey$b_size3],
.splkey$b_sizeéb), .splkey$b_size?]);

! Now we need to format the data type of the key segment(s).
anl$format_Line(0,.indent_Llevel+1,anlrms$_idxkeyltype, data_type_name(.splkey$b_datatypel));

! Now the key name. We use PREPARE_QUOTED_STRING to remove trialing
! NULs and enclose the name in quotes.

begin

local :
name_dsc: descriptor, k
local_described_buffer(string_buf,key$s_keynam#2+2);

build_descriptor(name_dsc, keyts-keyna@.sp[ke;it_keynam]):
anl$prepare_guoted_string(name dsc.str1ng buf);
anl$format_Tine(0, indent_Level+1,anlrms

idxkeyname,string_buf);
end;

NINININININININININ = e ed e e e d e 2 O OO OO OO O
S WN=O VNV W =O VNNV NN 2OV NS W

! And finally, the first data bucket VBN, if present.

if not .splkeySv_initidx] then :
anl$format_Line(0,.indent_Llevel+1,anlrms$_idxkeydatavbn,.splkey$l_Lldvbnl);

e e e e e s e e e o D e e e i e e il e i D i el i D i i o i i i
[elelelelelelelelelelidi=i=lelecleleleleclelelelelelelelelelelele]
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: Now we are going to check the contents of the key descriptor, This is
: a fairly rigorous test, but doesn't check anything that requires Looking
! at other structures (except as passed in the areas vector),.

—
o

: Start by ensuring that the three area IDs represent defined areas.
This check can only be made if the areas vector was passed.

if not nullparameter(3) then
f .areas_vector[.splkey$Sb_ianum])] eqlu 0
.areas_vector[.splkey$b_Lanum]] eqlu 0 or
.areas_vectorl.splkey$b_danuml] eqlu 0 Ehen
anl$format_error(anlrms$_badkeyareaid,.blbsd$l_vbnl,.key_id);

: Make sure the root level is at least 1. This check cannot be made
+ if the index is uninitialized.

PR RRRooe

or

if not .splkey$Sv_initidx] and .sptkeiib_rootlev] eqlu 0 then
anl$format_error(anlrms$_badkeyrootlevel,.blbsd$l_vbnl,.key_id);

! The following two checks can only be made if the areas vector was passed.
if not nullparameter(3) then (

: The index bucket size must be correct, and the two index area IDs
! must have the same bucket size.

it .splkey$b_idxbktsz] nequ .areas_vector[.spLkey$b_ianum]] or
.splkey$b_idxbktsz] nequ .areas_vector[.sp keESb Lanum]] then
anl$Tormat_error(anlrms$_badkeyidxbkt,.blbsd$l_vbnl,.key_id);
! The data bucket size must be correct.

it .splkey$b_datbktsz] nequ .areas_vector[.sg[ke $b_danum]] then
anl$Tormat_error(anlrms$_badkeydatabkt,.b[bSd$L_vbnl,.key_id);

OO OO VWV WIVIVIVIVIVA LSS SN S 0 0

)
! Check the key flags.

anlScheck_flags(.b[bsd$l vbn]..sp[keySb_tlags].
(if .anls?u-prolog eqlu plg$c_ver_3 then :
it .splkey$b_keyref] eqlu 0 then key3_primary_def
X else key3_secondary_def
else
if .splkey$b_keyref] eqlu 0 then key2_primary_def
> else keyl_secondary_def

! Check the data type of the key.

if .splkey$b_datatypel gtru key$c_max_data then ;
anl$Tormat_error(anlrms$_Badkéydatatype,.blbsd$l_vbnl,.splkey$b_datatypel,.key_id);

S W =O VDNV WN=O VNN = OV NN N = O VO~ O N B N = OO0 0~ W

! Check the number of key segments.

V00000000 000000000000 NN NN NNNNNN

if .sp[keytb_segnentsg eqlu 0 or ;
.splkey$b_segments] gtru (if .splkey$b_datatype] eqlu key$c_string then 8 else 1) then
anl$Tormat_error(anlrms$_badkeysegcount,.blbsd$l_vbnl,Tsplkey$b_segments],.key_id);

— ) il D il el D D D il D ) ) il D ) D e ) - - — — — ) — ) =D ) — —d ) D i D e D i D D il D D el el i ) i il ) D il D e

[elelelelelelelelelelelelelelelelelelelelelelelel=lelelelelelelelelelelelelelelelelelelelelelele]
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ANLSKEY_DESCRIPTOR = Print and Check a Key Desc 14=Sep=1984 11:52:59 ANALYZ.SRCIRMS2IDX.B32;1

109
109 ! Now we are going to check the key segment information. We sit in a3 loop
1094 : and calculate the total key lLength and the length of a record required
}895 ! to hold the key.
109 begin

bind

position_vector = sp[key?u_sositionOJ: vector(8,wordl,
size_vector = splkey$b_size0): vector(8,bytel;

total_size = required_record = 0;
incru i from 0 to 7 do (

OCOO0O0O0O0VY

LASLAS LN LS DN LN LR LSS LS LN LS LS LS LN LSS DN LSTVER o P XV TV LV IV P o

if .i Lssu .splkey$b_segments] then ( .
total_size = .total_size + ,size_vector(.il; . 4 :
required_record = maxu(.required_record,.position_vector[.iJ+.size_vector[.i]);

) else
it .position_vector(.i] nequ 0 or .size_vector(.i] nequ 0 then
) anl$Format_error(anlrms$_badkeySegvec,.blbsd$l_vbnl, . key_id);
eﬁd:

: Now make sure that the calculated information agrees with the information
: in the descriptor.

if .splkey$b_keysz] nequ .total_size or
.splkeySw_minrecsz] nequ .required_record then a
anl$Tormat_error(anlrms$_badkéysummary, .blbsd$l_vbn],.key_id);
! Check the key of reference ID.

it .splkey$b_keyref] nequ .key_id then - ;
anl$Tormat_error(anlrms$_badkeyrefid, .b[bsd$l_vbnl,.key_id);

! Check the index and data fill quantities.
if .splkeySw_idxfill] gtru .splkey$b_idxbktsz)*512 or

.splkey$w_datfilll gtru .sp[ke‘Sb datbktsz]+512 then
anl$Tormat_error(anlrms$_badkeyfill,.b[bsd$l_vbnl,.key_id);

— ) i ) —d — - ) —d - ) ) ) D e e e i e e ) D D i D e ) el i
— e e e e e e D D D D D e e e e d e e e e e e o e D i e e d D OO

WIWARNMNOMNOMNOMNONOMNOMNOMNOND) = 2 B b D D b b b b
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; 635 1 i ! Nou ut are going to move along to the next key descriptor, if there is
3 g }} ? let's just quit.
;638 1135 sp[ueyst idxfl) eqlu 0 then
: 63%9 1" 9 return false;
;. 640 1n
: 221 }} g ! Update the BSD and get the next key descriptor.
3 64§ 1140 b bsd$l_vbnl = .splkey$L_idxfl];
;. 644 114 blbsd$l offset] = .splkeytu noftl;
: 645 114; anlSbucket(b,0);
;64 114
;. 64 1144 return true;
: 64B 1145
;. 649 1146 1 end;
OFFC 00000 .ENTRY 3§L3‘5'1°‘3$§"‘°“ Save R2,R3,R4,RS5,R6,R7,=; 0849
58 0000G CF 9¢ 00002 MOVAB ANLSFORHAT LINE, R11 :
SE AC AE 9E 00007 MOVAB =-84(SP), SP :
55 06 AC 0O 0 MOVL THE _BSD, RS : 0852
53 0C AC DO 000OF MOVL AREAS, R3 : 0853
52 0C AS 08 AS ¢ 13 ADDL3 8(RS), 12(RS5), SP : 0930
51 60 A2 9E 00019 MOVAB 96(R2), R1 : 0931
10 AS 51 D1 0001D CMPL R1, 16(RS) :
1€ 1F 00021 BLSSU 1% :
08 AC 0D 00023 PUSHL KEY_ID ; 0932
04 AS DD 00026 PUSHL  &4(RS) :
000000006 8F DD 00029 PUSHL  #ANLRMSS BADKEYFIT :
00006 CF 03 FB 0002F CALLS #3, ANLSFORMAT ERROR :
000000006 8F DD 00034 PUSHL  #ANLRMSS UNWIND : 0933
00000000G 00 01 FB 0003A CALLS #1, LIBSSIGNAL :
03 10 AC EB 00041 18: BLBS REPORT, 2% : 0937
016 31 00045 BRW 108 3
7€ 04 AS 7D 00048 2%: MOVQ 4(RS), =(SP) : 0942
7E 15 A2 9A 0004C MOVZBL 21(SP), =(SP) : 0941
000000006 8F DD 00050 PUSHL  #ANLRMSS IDXKEY 3
14 AC DD 00056 PUSHL  INDENT_LEVEL 3
03 DD 00059 PUSHL #3 :
6B 06 FB 00058 CALLS #6, ANLSFORMAT_LINE :
7€ D& 0005E CLRL -(5P) : 0943
00006 CF 01 FB 00060 CALLS  #1, ANLSFORMAT_SKIP :
62 DS 00065 TSTL (SP) : 0947
16 13 00067 BEQL b4 3 3
7€ 04 A2 3C 00069 MOVZWL &(SP), =(SP) : 0949
6 DD 0006D PUSHL (SP) 3
00000000G 8F DD 0006&F PUSH #ANLRMSS IDXKEYNEXT : 0948
7€ 14 AC 01 C1 00075 ADDL #1, INDENT_LEVEL, =(SP) 3
7€ D4 0007A CLRL (§P) ;
68 05 8B 0007¢C CALLS ANLSFORHAT _LINE :
7E 08 A% 9A 0007F 3$: MOVZBL ;<§p -(SP) : 0953
143 07 A2 9A 00083 MOVIBL 7(SP), =(SP) :
7E 06 A2 9A 00087 MOVZBL 6(SP), =(SP) :
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00006
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gs for Prolog 2 Indexed f 12-50 -19
int and Check a Key Desc 1&-509-19

000000006 8F DD 000
C 1 €1 00091
& DD 000
E D& 0009
?8 02 F8 0009A
3 89 A2 9A 00090
000000006 8F DD QOO0A1
& DD Q00A7
7€ D& 000A9
68 04 FB SOOAB
R
000000806 F DD 00086
4 DD 000BC
7E D& 0008
68 J5 FB 800(
LY 04 EO 000C
0C A2 DD 000C8
000000006 8F DD 000CB
& DD 00001
7E D4 00003
68 04 FB 00005
03 00006 CF 81 00008
13 12 00000
15 A2 95 000DF
07 12 000E2
50 0000* CF 9t OOOE4
18 11 0009
50 0000* CF 9E 00OEB
11 11 000F
15 A2 93 000F
07 12 000F
50 0000* CF 9E 000F7
05 11 000FC
50 0000* CF 9E 000F§
50 DD 0010
7E 10 A2 9A 00185
000000006 8F DD 00109
56 DD 0010F
CF 04 FB 00111
7E 12 A2 9A 00116
000000006 8F DD 0011A
34 DD 00120
7E D4 00122
68 06 FB 00124
A2 02 E1 00127
7E 13 A2 9A 0012C
000000006 8F DD 00130
3¢ DD 001
7E D& 081
04 FB 8 13A
7E 14 A2 9A 0013D
000000006 8F DD 00141
& DD 00147
7E D& 00149
68 04 FB 00148
7t 16 A2 3C 0014E

5%:
6%:

7%:
8%:

9%:

8 f1:33:85

PUSH
ADDL

AX=11 Blis =32 V4.0-742
ANALYZ. SIC RMS21DX.B32; 1

#ANLRMSS IDXKEYAREAS
11 INDERT _LEVEL, Ré&

-(sp)
ANLSFORHA! _LINE
(§p) -(SP)
=2NLRHSS IDXKEYROOTLVL
-(sr)
AuLsrounAr _LINE
11159) -(SP)
10(5P) . =(SP)
:2NLRH§S IDXKEYBKTSZ

=(SP)

#5, ANLSFORMAT_LINE
#6, 16(SP), 48~

12(5P)
:2NLRHS$_IDXKEYRODTVBN

=(SP)
#4, ANLSFORMAT_L INE
AgLSGU PROLOG, #3

6

21(sP)
ggv}_vnxnanv_oer. RO
KEY3_SECONDARY_DEF, RO
gi(sp)
KEY2_PRIMARY_DEF, RO
Egvz_sscoqunv_oer. RO

16(SP) =(SP)
02NLRHSS IDXKEYFLAGS

#4, ANLSFORMAT_FLAGS
18(SP), =-(SP)
=2NLRHSS IDXKEYSEGS

=(SP)

s, ANL‘FORHAT LINE
#2. 16(SP), 9%~
19(SP) -($P)
:2NLRHSS IDXKEYNULL

=(SP)

#4, ANLSFORMAT_L INE
20(sP), =(SP) ~
=2NLRHS$ IDXKEYKEYSZ

-(SP)
4 ANLSFORHAT _LINE
22(sP), =(SP)

o 8

LR R R R L R R R o T T O P P S YA Y P I TP Y T T TP T T L T T TP T T T T T T T T T

0957

0961

0965
0966

0971
0972

0975

0970

0981

0985
0986

0990

099
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000000006 8F DD 81 g PUSHL  WANLRMSS_IDXKEYMINREC ;
& DD 001 PUSHL Ré :
E D& 0015A CLRL  =(SP) r
93 04 FB 0015¢C CALLS  #4, ANLSFORMAT_L INE :
£ 1A As ;c 015¢f MOVIWL 26(SP), =(SP) . 0998
7€ 18 A2 3¢ 016; MOVIWL 24(SP). =(5P) :
000000006 8F DD 0016 PUSHL  WANLRMSS_IDXKEYFILL :
& DD 00160 PUSHL Ré :
D& 019r CLRL  =(SP) :
68 05 FB8 00171 CALLS  #5, ANLSFORMAT L INE .
7€ A A2 3C 00174 MOVIWL &2(SP), =(SP) : 1006
7€ 8 A2 3¢ 81ra MOVZIWL &40(SP). =(5P) :
7€ 6 A2 3¢ 0017¢C MOV ZWL (SP). <(SP) : 1005
7€ & A2 3C 00180 MOVZIWL 36(SP). =(5P) :
7€ 2 A2 3¢ 00184 MOVZIWL 34(SP). «(5P) 1004
7€ 0 A2 3¢ 8013& MOV ZWL 5(59). -(5P) :
7€ 1€ A2 3C 0018¢C MOV ZWL (SP). =(5P) 1003
7€ is A2 3¢ 00190 MOVIWL 28(SP). =(SP) :
7€ 12 A2 9A 8019& MOVZBL 18(SP). =(SP) t 1002
000000006 8F DD 00198 PUSHL  #ANLRMSS_IDXKEYPOSS :
4 DD 00195 PUSHL Ré :
E D& 801A CLRL  =(SP) :
68 0C FfB 01A§ CALLS  #12, ANLSFORMAT L INE :
7€ 33 A2 9A 001A MOVIBL S1(SP), =(SP) S 1011
7€ 2 As 9A 001A9 MOVZIBL S50(SP). =(SP) :
7€ 1 A2 9A 001AD MOVZIBL 49(SP). =(5P) : 1010
7€ 0 A2 9A 00181 MOVZIBL 4B(SP). =(5P) :
7€ 2F A2 9A 00185 MOVIBL 47(SP). =(SP) : 1009
7€ %E A2 9A 00189 MOVZIBL 46(SP). =(SP) :
7€ D A2 9A 0018D MOVZBL 45(SP). =(SP) 1008
7€ 2C A2 9a 001C1 MOVZIBL 44(SP). =(SP) :
7€ 12 A2 9A 001CS MOVZBL 18(SP). =(SP) ¢ 1007
000000006 8F DD 081c9 PUSHL  #ANLRMSS_IDXKEYSIZES ;
54 DD 001CF PUSHL  R& :
7€ D4 00101 CLRL  =(SP) :
68 0C FB 00103 CALLS  #12, ANLSFORMAT_LINE ;
I3 11 A2 9A 00106 MOVIBL 17(SP), =(SP) ;1015
FEOS CF 1 FB 001DA CALLS  #1, DATA_TYPE_NAME :
0 DD 001DF PUSHL RO ;
000000006 8F DD 001E1 PUSHL  #ANLRMSS_IDXKEY1TYPE ;
S¢ DD 0017 PUSHL  Ré :
7€ D4 001E9 CLRL  =(SP) ;
6B 04 FB 801:3 CALLS  #4, ANLSFORMAT LINE ;
6F 45 8F 9A 001E MOVZIBL #66, STRING BUF 1023
04 AE 08 AE 95 001F MOVAB  STRING_BUF +B, STRING_BUF +4 :
4C AE 20 g 8o1r MOVL  #32, NAME DS 1025
SO  AE 3 A2 9 001FB MOVAB  52(R2), NEME_DSC+4 ;
SE DD 08 00 PUSHL SP 1026
50 AE 9F 0 og PUSHAB NAME DSC ;
00006 CF 2 FB 80 0 CALLS #2, ANLSPREPARE_QUOTED_STRING $
E DD 0020A PUSHL SP P 1027
000000006 8F DD 0020C PUSHL  #ANLRMSS_IDXKEYNAME F
54 DD 00212 PUSHL R& ;
76 D4 00214 CLRL  =(SP) ;
68 04 FB 00216 CALLS  #4, ANLSFORMAT LINE :
10 10 A2 04 EO 00219 BBS #4. 16(SP), 108 : 103;
5¢ A2 DD 0021E PUSHL B4 (SP) : 103
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CALLS
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1ST8
BNEQ
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(MP
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CALLS
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RMS21DX RMS21DX = Analy2 t i gs for Prolog 2 Indexed F 15-Sep-1984 4 AX=11 Bliss=32 v4&.0=-74 = 1
V022000 ANLSKEY_DESCRIPTOR < Print and Chock o Koy Bast 1e-sen-1980 §1:83:85  Famalvzosatsans Yoatsis?y e 3

07 53 m Al CMPL :
AB 18 003A4 ltEOU g :
59 % A2 08 59 :g gzvav g ‘ #8, 20(SP), TOTAL_SIZE 18
5¢ 16 A2 10 ig 35 éng' 32‘ #16, 22(SP), REQUIRED_RECORD F 1119
08 AC 0D 8 ag 318: PUSHL xev D ‘1120
6 DD 0038 PUSHL R6 © :
000000006 8F DD ng PUSHL  #ANLRMSS BADKEYSUMMARY :
0000G CF g FB 003C CALLS #3, ANLSFORMAT_ERROR :
08 AC D1 003C6 32%: CMPL ng KEY_ID 1124
10 13 8 CA BEQL { :
08 AC 0D cC PUSHL  KEY_ID : 1125
S6 DD 003CF PUSHL R6 ~ :
000000006 sr 0D 00301 PUSHL  #ANLRMSS BADKEYREFID :
00006 CF FB 00307 CALLS #3, ANLsFoanAr _ERROR :
1 0A A2 9A 003pC 33%: MOVZBL .g(sp) : 1129
51 1 09 78 003e0 ASH .
51 18 A2 10 00 go 03E4 CMPZY  #0 016 24(59) R1 :
1 A 003EA BGTRU 348 :
51 0B A2 9A 003EC MOV ZBL 11(sp) ar 1130
51 3 09 78 003F0 ASHL 9, R1 :
51 1A A2 10 00 ED 80 Fé CMPZV vg #é, 26(SP) R1 :
10 18 003FA BLEQU $ :
08 AC 0D oogfc 34%: PUSHL  KEY_ID R
S6 DD OO3FF PUSHL R6 ~ :
000000006 8F DD 00401 PUSHL nAuLanss BADKEYF ILL :
0000G CF 03 FB 00407 CALLS ANLSFORMAT _ERROR :
62 DS 0040C 35%: 1sTL (sﬁ) P 1135
16 13 0040€ BEQL 36$ ;
06 AS 6% go 00410 MOVL (SP), &(RS) ¢ 1140
08 AS 06 A C 00414 MOVIWL &(SP), B(RS) ;1141
7§ D& 00419 CLRL -(SP) ¢ 1142
55 DD 00418 PUSHL RS ;
00006 CF 02 rs 80410 CALLS  #2, ANLSBUCKET :
50 01 » o«zg MOVL #, RO P 1144
04 00‘05 RET :
SO0 D& 00426 36%: CLRL RO : 1146
04 00428 RET ;

; Routine Size: 1065 bytes, Routine Base: SCODES + 021A
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« Analyze Things for Prolog 2 Indexed f 1!-50 -1984 23:53:24 AX=11 Bliss=32 v&.0-742
xDEl - Pgint and thogt 3 Bucket M 14-502-193& i1:23:£9 !ANALVZ.SRC%

gtettl *ANLS2BUCKET _MEADER = Print and Check a Bucket Header'

i Functional Description:

his routine is responsible for printing and checking the contents
of the bucket header in prolog 2 indexed file buckets.

fFormal Parameters:

the_bsd The address of a BSD dcscribing the complete bucket.
We update it to the next bucket.

area_id The alleged ID of the area containing this bucket.

level The alleged Level of this bucket.

report A boolean, true if we are to print a report.

indent_Llevel The indentation level of the report.

Implicit Inputs:
global data

Implicit Outputs:
global data

Returned Value: :
True if there is another bucket in this chain, false otherwise.

Side Effects:

global routine anl$2bucket_header(the_bsd.area_id,level,report,indent_Level) = begin

b = .the_bsd: bsd;

(=] o
= -
b D

Q

control_flags_def: block%B.long] initial(

uplit byte (Xascic 'BKTSV_LASTBKT'),
uplit byte (Xascic 'BKT$V_ROOTBKT')

local

sp: ref block[,bytel;
! We know the bucket header fits in the bucket.
! Now we can format the header if requested.

= .blbsd$l_bufptr] ¢+ .b[bsd$l_offset];
.report then (

"
-7

! Start with a nice header, containing the VBN.

anl$format_Line(3,.indent_level ,anlrms$_bkt,.b[bsd$l_vbnl);
anl$format skip(0);

! Format the check character,

P
RMS210X.832; 1 a1} |



3823683 ::Eiigl - Anal‘zo Things for Prolog 2 Indexed f 1*-;29-1932 f?:;ggig ¥Ax-11 Bliss=32 v4.0-742 Pagc";;

UCKET_MEADER = Print and Check a Bucket W 14=Sep=19 ANALYZ.SRCIRMS21DX.B32:1
709 1508 :
anlSformat_Line(0,.indent_Level+1,anlrms$_bktcheck,.sp[bkt$b_checkcharl);
gi? i §2 : Format the area number.
;}s } ?3 anl$format_Line(0,.indent_Level+1,anlrms$_bktarea,.sp(bkt$b_areanol);
;}S } }1 ! Now the VBN address sample.
;}? } }2 anl$format_Line(0,.indent_Level+1,anlrms$_bktsample,.sp[bktSw_adrsamplel);
;1% } }S ! Now the free space offset.
; 1 } }z anl$format_Line(0,.indent_Llevel+1,anlrms$ _bktfree,.splbktSw_freespacel);
; % } 13 ! Now the available record ID range.
;22 }2%1 anl$format_Line(0,.indent_Level+1,anlrms$_bktrecid,.splbktSb_nxtrecidl,.splbktSb_Lstrecidl);
;g; lggi ! Now the next bucket VBN.
;gg }%sg anl$format_Line(0,.indent_Level+1,anlrms$_bktnext,.splbkt$l_nxtbkt]);
;31 }%%7 ! Now the level number.
;g% }%g% anl$format_Line(0,.indent_Llevel+1,anlrms$_bktlevel,.splbktSb_Levell);
;gg }%gé § ! And finally, the flags.
;g; }Sg‘ 3 ’s anl$format_flags(.indent_level+1 anlrms$_bktflags,.sp(bkt$b_bktcbl,control_flags_def);

LA E TR I E PR TETE TR TR TR PR T TR TR DI TR T TR TR e R T TR TR
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RMS2IDX = Analyze Things for Prolog 2 Indexed f 1§-So ~1984 23:53:24 AX=11 Bliss=32 v4&.0-742
ANLisﬂutltl_NE‘DEl - P?int and Chegk ] Ouc:Ot " 1‘-503-193& i1:g§=§9 ANALYZ.SNC’RHSZ!DI.BSZ:!

! Now we are going the check the gontents of the bucket header. This is a
: fairly rigorous test, but doesn't check anything that requires lLooking
! at other structures.

5

! Make sure the check byte is present in the lLast byte of the bucket.

it .splbktSb_checkchar] nequ ch$rchar(.b[bsd$l Endptrl-1) then
anl$Tormat_error(anlrms$_badbktcheck,.B{bsd$l_vbnl);

! Check the area !D.

if .splbkt$b_areano] nequ .area_id then )
anl$Format_error(anlrms$_badbktareaid,.bl[bsd$l_vbnl);

! Check the bucket address sample.

if .splbktSw_adrsample] nequ (.b[bsd$L_vbnl and Xx'0000ffff') then
ani$Tormat_error(anlrms$_badbkTsample,.blbsd$l_vbnl);

! Check that the next available byte is within reasonable Limits.
if .sp bktSu_freespaceg Lssu bkESc overhdsz or
.splbktSw_freespacel) gtru .b[bsdSw_sizel*512=1 then
anl$Tormat_error{anlrms$_badbktfree,.blbsd$L_vbnl);
! Check the level number.

if .splbktSb_level] nequ .level then
anl$Tormat_error(anlrms$_badbktlevel,.b[bsd$l_vbnl);

! Check the byte of control flags.
anl$check_flags(.b[bsd$l_vbnl,.splbktSb_bktcb]l,control_flags_def);
statistics_callback(

LSS NN NN N NT N NN NT NN NLNLNLSTNT NI NN NT.NT NT N
AV T ol o O o O O O O O
000 WSS NN = O OO~ O~

OO O O YWV
W= O VRN WV W —-O

RS

! If we are accumulating statistics, then we have to call the
! bucket callback routine, telling 1t the lLevel, bucket size,
! and fill amount.

anlSbucket_caliback(.s tbkt‘b_gevsll.
.blbsdSw_sizel,
.splbktSw_freespacel + 1);

S LS TN LN LN LN LN L NN LN LN LN
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V04 BUCKET_HEADER = Print and Check a Bucket H 14=Sep=-19 ANALYZ.SRCIRMS21DX.B32;1
785 1279 : 1t this is not the Last bucket in this chain, then let's update the
; } §? : BSD to describe the next one. Otherwise forget it. en
7 1 if not .splbkt$v_Lastbkt] then (

789 1 gi bfbstl ani = ,splbkt$l_nxtbkt];
790 1284 anl$bucket(b,0);

791 1285 return true;

79 1 89 ) else

79 128 return false;

794 1%83

795 1289 1 end;

PSECT SPLITS ,NOWRT,NOEXE,2

JABA: LASCII <13>\BKTS$V_LASTBKT\ :
7€ P.ABB: .ASCII <13>\BKTSV ROOTBKT\ :

PSECT $OWNS,NOEXE,2
00000001 00094 conraoL,rtsgg_o£;=
00000000* 00000000 00098 .ADDRESS P.ABA, P.ABS ;

56 4B 42 54 53 41 4C S5F 56 264 54 4B 42 0D 00170 P
56 4B 42 54 4F &F 52 S5F 56 264 54 4B 42 0D 001

.PSECT S$CODES,NOWRT,2

007C 00000 .ENTRY ANL$2BUCKET HEADER, Save R2,R3,R4,RS,R6 : 1175
56 00006 CF 9E 00002 MOVAB  ANLSFORMAT_ERROR, R6 :
55 00006 CF 9€ 00007 MOVAB ANLSFORMATLINE, RS :
53 04& AC DO 0000C MOVL THE _BSD, R3 : 1178
52 0C A3 _ga A3 €1 00010 ADDL3  8(R3), 12(R3), sP : 1195
03 0 AC 53 00016 BLBS  REPORT, 1% P 1196
-~ 00AB 31 0001A BRW 28 :
046 A3 DD 0001D 18: PUSHL  &(R3) : 1200
000000006 8F DD 00020 PUSHL  #ANLRMSS BKT ;
14 AC DD 00826 PUSHL  INDENT_LEVEL :
03 oD 00 %9 PUSHL #3 ;
65 04 FB 00028 CALLS  #4, ANLSFORMAT_LINE ;
7€ D& 8°°§£ CLRL  =($P) ;1201
00006 CF 01 F8 00030 CALLS  #1, ANLSFORMAT_SKIP :
7€ 62 9A 80035 MOVIBL (SP), =(SP) : 1205
000000006 8F 20 0038 PUSHL  WANLRMSS BKTCHECK ;
54 1% AC 01 C1 ooosg ADDLS  #1, INDERT_LEVEL, R4 :
54 DD 0004 PUSHL R4 ;
7€ D& 00045 CLRL -(SP) ;
65 04 FB 00047 CALLS  #4, ANLSFORMAT_LINE :
7€ 01 A2 9A 0004A MOVIBL 1(SP), =(SP) 11209
000000006 8F DD 0004E PUSHL  #ANLRMSS_BKTAREA :
S4& DD 00054 PUSHL R& ;
7€ D& 00056 CLRL -(SP) :
65 04 FB 00058 CALLS  #4, ANLSFORMAT_LINE ;
7€ 02 A2 3C 00058 MOVIWL 2(SP), =(SP) : 1213
000000006 BF DD 0005F PUSHL  #ANLRMSS_BKTSAMPLE :
54 DD 00065 PUSHL R& :
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76 D4 00067 CLR =(SP) ;
92 04 23 SE 006¢ 335%3L 2?5??""??3?‘T'L1"5 1217
000000006 8F DD 3393 PUSHL  WANLRMSS_BKTFREE ;
& DD oorg PUSHL  Ré :
E D& 0007 CLRL =(SP) :
65 064 FB 0007A CALLS  #4, ANLSFORMAT_LINE ;
7E 07 A2 9A 80070 MOVZBL 7(SP), =(SP) ;1221
7€ 06 A2 9A 00081 MOVZIBL 6(SP), =(5P) :
000000006 8F DD Q0085 PUSHL  #ANLRMSS_BKTRECID ;
54 DD 00088 PUSHL  Ré& :
7€ D4 Sooao CLRL  =(SP) :
65 0 FB 0008F CALLS #5, ANLSFORMAT_L INE 3
08 A2 DD 0009 PUSHL  B(SP) : 1225
l 000000006 F DD 0009 PUSHL #ANLRMSS _BKTNEXT s
| 4 DD 00098 PUSHL R4 :
7E D4 0009D CLRL  =(SP) . :
| 65 04 FB 0009F CALLS  #4, ANLSFORMAT_LINE 3
7€ 0C A2 9A 000A2 MOVZBL 12(SP), =(SP) : 1229
i 000000006 8F DD 000A6 PUSHL  #ANLRMSS_BKTLEVEL ;
S4 DD 000AC PUSHL  Ré4 :
7€ D4 000AE CLRL  =(SP) :
, 65 04 B 00080 CALLS  #4, ANLSFORMAT L INE :
l 0000*' CF 9F 000B3 PUSHAB CONTROL _FLAGS_DEF ; 1233
| 7€ 0D A2 9A 00087 MOVZBL 13(SP), =(SP) :
| 000000006 8F DD 000BB PUSHL  #ANLRMSS_BKTFLAGS :
| 54 DD 000C1 PUSHL R4 :
00006 CF 04 FB 000C3 CALLS  #4, ANLSFORMAT_FLAGS ;
50 10 A3 DO 000C8 2%: MOVL  16(R3), RO ;1241
FF AO 62 91 000CC (MPB  (SP), =1(R0) :
0C 13 00000 aL 38 :
04 A3 DD 000D2 USHL  &(R3) ;1242
000000006 8F DD 000DS5 PUSHL  #ANLRMSS BADBKTCHECK F
66 02 FB 00008 CALLS "2, ANLSFGRHM_ERROR H
08 AC 01 A2 08 00 ED OOODE 3%: CMPZV  #0, #8, 1(SP),”AREA_ID ;1246
0C 13 00OES BEQL 48 - :
04 A3 DD 000E7 PUSHL  4(R3) ;1247
000000006 8F DD OOOEA PUSHL  #ANLRMSS BADBKTAREAID :
66 02 FB 000F0 CALLS  #2, ANLSFORMAT_ERROR ;
54 04 A3 DO O0OF3 4$: MOVL  4(R3), R4 ;1251
54 02 A2 B1 000F7 C(MPW  2(SP), R4 :
0B 13 000FB BEQL 5% :
54 DD 000FD PUSHL R4 ;1252
000000006 8F DD OOOFF PUSHL  #ANLRMSS BADBKTSAMPLE :
66 02 FB 00105 CALLS  #2, ANLSFORMAT_ERROR :
i]3 04 A2 B1 00108 5%: CMPW 4 (SP), M4 ;1256
1; 1F 0010C BLSSU 6% ;
50 02 A3 3¢ 8010! MOVZWL 2(R3), RO ;1257
50 50 09 78 00112 ASHL  #9, R0, RO :
50 D7 00116 DEC RO 3
50 06 A2 10 00 ED 00118 CMPZV  #0, #16, 4(SP), RO :
0B 1B 0011E BLEQU 7% :
54 DD 00120 6%: PUSHL R4 ;1258
000000006 8F DD 00122 PUSHL  #ANLRMSS BADBKTFREE :
66 02 FB 00128 CALLS  #2, ANLSFORMAT_ERROR :
0C AC 0c A2 08 00 Eg 001%8 7%: CMPZV 40, #8, 12(SP), LEVEL : 1262
08 13 00132 BEQL 8% ;
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& DD 81 PUSHL Ré& : 1263
000000006 8F DD 001 PUSH #ANLRMSS BADBKTLEVEL :
66 2 FB 0013C CALL #2, ANLSFORMAT ERROR :
0000* CF 9F Q013F 8%: PUSHAB CONTROL_FLAGS_DEF : 1267
13 00 A2 9A 8014; MOVZBL 13(SP),"=(SP) :
5¢ DD 0014 PUSHL Ré& :
; 00006 CF 03 FB 00149 CALLS #3, ANLSCHECK FLAGS 3
; 02 00006 CF 91 001 CMPB ANLSGB_MODE, #2 : 1278
| 07 13 0015 BEQL 9 :
; 04 00006 CF 91 0015 CMPB ANLSGB_MODE, #4 :
; 13 12 0015A BNEQ 108 :
7€ 06 A2 3C 0015C 9% MOVZML &(SP), =(SP) :
6% D6 00160 INCL (SP) .
7€ 02 A3 3C 00162 MOVZIWL 2(R3), =(SP) :
7€ 0cC Ai 9A 00166 MOVZBL 12(SP), =(SP) :
00006 CF 03 FB 0016A CALLS  #3, ANLSBUCKET_CALLBACK :
12 0D Ag E8 0016F 108 BLBS 13(sP), 11% : 1282
06 A3 08 A2 0O 00173 MOVL 8(SP), &4(R3) : 1283
7§ D4 00178 CLRL -(SP) : 1284
53 DD 0017A PUSHL R3 :
0000G CF 02 FB 0017C CALLS #2, ANLSBUCKET :
50 01 D00 00181 MOVL #1, RO : 1287
04 00184 RET :
50 D& 00185 11% CLRL RO :
04 00187 RET : 1289

; Routine Size: 392 bytes, Routine Base: SCODES + 0643
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Check an Index Reco 14=Sep=-1984 ANALYZ.SRC

!f?ttl "ANLS2INDEX_RECORD = Print & Check an Index Record'
g Functional Description:

his routine_is responsible for printing and checking the contents
of a prolg? 2 index record. An index record is the structure present
c

in the indices of an indexed file.

Formal Parameters:
rec_bsd Address of BSD describing the index record.
key_bsd Address of BSD describing key descriptor for index.
report A boolean, true if we are to print the record.
indent_Llevel Indentation level for the report.

]

i

i

i

i

i

i

i

i

! Implicit Inputs:
E global data
! Implicit Outputs:
; global data
:

:

:

:

:

:

Returned Value: : g
True if there is another index record in this bucket, false otherwise.

Side Effects:

global routine anl$2index_record(rec_bsd.key_bsd,report,indent_Llevel) = begin

bind

.rec_bsd: bsd,

k .ke{ bsd: bsd,

kp = .k[Bsd$l _bufptr] ¢ .k[bsd$l_offset): block[,bytel;

local
hp: ref block{,bytel,
sp: ref block[,bytel,
length: Llong;

! First we have to ensure that this index record really fits in the used
: space of the bucket. If not, we have a drastic structure error,
! Begin by ensuring that the first byte fits.

hp = .blbsd$l_bufptrl;

if .blbsd$l _offset] gequ .hp[bktSw_freespacc then (
anl$format_error(anlrms$_badidxrecfit,.b(bsd$l_vbnl);
' signal (anTrms$_unwind);

! Now calculate the total length of the index record.

sp = .blbsd$l_bufptr] + .bl[bsd$l_offset];
length = 1 ¢
(Eaie .3p[irc3v-ptrsz] from 0 to 3 of set

P
RMS210X.832° 1 "3
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! Now make sure the entire index record can fit into the used space.

1}: 3
: &;
Ei]: (anl$format_error(anlrms$_badidxrecps,.bl[bsd$l_vbnl);

signal (anlrms$_unwind););

tes) ¢+
.kplkey$b_keysz]

1"
DX = Analyze Things for Prolog 2 Indexed f 1§-S¢p-1984 23:53:;4
INDEX_RECORD = Print € Check an Index Reco 14=Sep=-1984 11:52:59

it .blbsd$l _offset]+.length gtru .hplbktSw_freespacel] then (

~
-

anl$tormat_error{anirms$_badid

signal (anTrms$_u

nwind) ;

xrec?it..bg

bsd$L_vbnl);

VAX=11 Bliss=32 v&.0-742

Page 39
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1"
DX = Analyze Thin?s fgr Prolog 2 Indexed f 12-509-1936 3:53:;&
INDEX_RECCRD = Print A B

1:52:
! Now we can format the index record if requested by the caller.

Check an Index Reco 14=Sep=-19

it .report then (

! Begin with a header.

anl$format_Line(3,.indent_Level ,anlrms$_idxrec,.b[bsd$(_vbnl,.b[bsd$l_offsetl);

anl!fornat-skip(os:
! Now the bucket pointer and its length.
anl$format_Line(0,.indent_level+1 anlrms$_idxrecptr,.splircSv_ptrszl+2,
(Case .spf1rc$v_?frsz] from 0 to 2 of set
0]): .sp[1,0,16,0];
1]): .SPp 1.0.;‘.03:
2]): .sp(1,0,32,03;
tes));
! Now the key value. Dump it in hex with a heading.
glefornat_line(O..indent_level+1.anlrnst,idxkeybytes);
egin
logal -
key_dsc: descriptor;
build_descriptor(key_dsc,.k [kez$b_keysz]..sp + 1 + .splircSv_ptrsz]+2);
anl$format_hex(.indent_Llevel+2 key_dsc);
. end;

AX=11 Bliss=32 v4.0-742

Page 40
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ANLS2 INDEX_RECORD = Pr

1389 ! Now we can actualll
90 ! work involves checki
81 ! We have a few things
o
94

58

e i it cdh i it dd i et D OOOOOOOOOO
oowow»maocosgmaw-go

1"
- Analsze Thin?:tfgr Prolog 2 Indexed F 1§-Sop-19 4 f?;i%:;g

check the inte

"Ret

grit‘
ts fit in the bu
t, however,

! Check the index record control bits. Th

if .splircSy_recordcb] nequ 0 then
anl$Tormat_error(anirms$_badidxrecbits,.blbsd$l_vbnl);

statistics_callback(

! It we are accumulating statistics

Check an Index Reco 14=Sep=-1984

of the index record.

cket, which has already been done.

ere aren't any.

then we have to cal

! index record callback routine, te(ling it the level an
! record Length,

anl$index_callback(.hp[bkt$Sb_Llevell,

);

! Now we can advance to the next index record.

.length,
0); ’

If there isn't a

!Al-ll Blis
ANALYZ.SRC

Most of the

L the
d overall

nother

! one, then just return without modifying the BSD. Otherwise update

 the BSD.

if .blbsd$| _offsetl+.length Lssu .hp[bktSw_freespacel then (
blbsd$l_offset]l = .bl[bsdSl_offset]l ¢+ .length;

return true;
return false;

; Null expression appears in value-required context

08

A3

54

04

OFFC 00000

58 000000006 00 9E 00002

5A 000000006 8F DO 00009

SS 08 C2 00010

5 84 AC DO 00013

50 8 AC DO 00017

55 0C A0 08 A0 C1 80018
56 0C A3 DO 00021

A6 10 Og ED 00025
13 1A 0002¢C

04 A3 DD 0002€

000000006 8F DD 00031

00006 CF 02 FB 00037

5A DD 0003C

6% 01 F#B 0003€

SS 0C A 08 A3 (1 00041
6 02 20 EF 00047
03 00 & CF 0004C

.ENTRY
R&,R9,R10, K11

MOVAB LIBSSIGNAL, R11
MOVL  #ANLRMSS_UNWIND, R10
SUBL2 #8, SP
MOVL  REC_BSD, R3
MOVL  KEY“BSD. RO
ADDL3  8(RO), 12(RO), RS
MOVL 12(R3), WP
CMPZV  #0, #16, 4(HP), B(R3)
BGTRU 1%
PUSHL 4 (R3)
PUSHL  #ANLRMSS BADIDXRECFIT
CALLS #2, ANLSFORMAT_ERROR
PUSHL R10
CALLS #1, LIBSSIGNAL

1%: ADDL3S  8(R3), 12(R3), SP
EXTIV  #0, #2, (§P). R
CASEL R4, #0. #

ANLS2INDEX _RECORD, Save R2,R3,R4,R5,R6,R7,-

=32 Vv4,0-742
RMS21DX.B32;1

Page &1
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FN
::Ei;bl = Analyze thin?:tfsr Prolog 2 Indexed F 15-Sep~1984 i?g?%gik ¥:x-11 Bliss=32 v4.0-742 Page &2

INDEX_RECORD = Pr Check an Index Reco 14=Sep=1984 9 NALYZ.SRCIRMSZ2IDX.B32;1 (18)
0017 0012 000D 0008 00050 2%: .WORD 2;- g.- :
5$=0%,= :
68-29% :
S0 02 00 58 3%: MOVL #2, RO 3
1F 11 00058 BRB 7 :
50 03 00 5D 48$: MOVL #3, RO :
1A 11 00 BRB 7% :
50 06 ©0 00062 5%: MOVL #4, RO :
15 11 0006 BRB 7% :
85 A3 DD 00067 6%: PUSHL  &4(R3) P 1349
000000006 8F DD oggu PUSHL  #ANLRMSS BADIDXRECPS :
00006 CF 2 FB 00 CALLS #2, ANLSFORMAT_ERROR :
A DD 0007 PUSHL R10 ;1350
68 g1 FB 00077 CALLS #1, LIBSSIGNAL :
0 D& 8007A CLRL ag . 1345
57 14 AS 9A 0007C 7%: MOVZIBL 20(RS), R7 : 1352
58 01 A740 9€ 00080 MOV 1(R7)CRO], LENGTH ;1351
59 58 08 A3 1 00085 ADDL 8(R3), LENGTH, R9 : 1356
59 06 Ab 10 00 ED 0008A cmpZv  #0, #i6, 4(WP), R9 :
13 1€ 00090 BGEQU 8S$ :
06 A3 DD 0009§ PUSHL  4(R3) : 1357
000000006 8F DD 0009 PUSHL  W#ANLRMSS BADIDXRECFIT :
00006 CF 02 FB 00098 CALLS  #2, ANLSFORMAT_ERROR :
SA DD 000AQ PUSHL R10 ;1358
6B 01 FB 000A2 CALLS #1, LIBSSIGNAL :
7 0C AC ;9 000AS 8%: BLBC REPORT, 14$ ;1362
7€ 06 A3 7D 000A9 MOVG  4(R3), =(SP) : 1366
000000006 8F DD 000AD PUSHL  W#ANLRMSS IDXREC :
10 AC DD 000UB3 PUSHL  INDENT_LEVEL 3
03 DD 00086 PUSHL #3 ;
00006 CF 05 ¢B 00088 CALLS  #5, ANLSFORMAT_LINE :
76 D4 0008D CLRL -(SP) ;1367
00006 CF 01 FB 000BF CALLS  #1, ANLSFORMAT_SKIP :
02 00 54 CF 000C4& CASEL R4, #0, #2 ;1372
0014 000C 0006 000C8 9%: .WORD }?i'%{" ;
128-9% :
7€ 01 A2 3C 000CE 10%: MOVZWL 1(SP), =(SP) ;1373
08 11 00002 8RB 138 ;
7€ 01 A2 18 00 EF 000D4 11%: EXTZV  #0, #24, 1(SP), =(SP) L1374
03 11 000DA BRB 134 :
01 A2 DD 000DC 1;:: PUSHL  1(SP) ;1375
02 A& 9F Q0ODF 13$%: PUSHAB 2(R4) ;13
000000006 8F DD ooozg PUSHL  #ANLRMSS IDXRECPTR :
55 10 AC 01 €1 000E ADDL #1, INDERT_LEVEL, RS :
55 DD 00OED PUSHL RS :
rg D& 0O0OEF CLRL -(SP) :
00006 CF 05 FB 000F1 CALLS  #5, ANLSFORMAT LINE o
000000006 gr DO ogoro PUSHL  #ANLRMSS_IDXKEVBYTES : 1380
S DD 000FC PUSHL RS ;
7€ D4 OOOFE CLRL -(SP) ;
00006 CF 2 F8 00100 CALLS  #3, ANLSFORMAT L INE :
62 00 00105 MOVL R7 xEv gsc ;1385
06 A 03 A442 9E 00108 MOVAB  3(R4)[SP], KEY_DSC+4 :
SE DD 80108 PUSHL SP i 1386
7€ 10 AC 02 €1 00N ADDL #2, INDENT_LEVEL, =(SP) ;
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Check an Index Reco

0000G CF 02 ¢ 1
FC F 8 - 1
A% 05 001

000000836 F DD 001

00006 sr 2 F 1
2 00006 8' G 1

7 1 1

04 00006 CF 9 1

D 12 001

pé 001

5 gb 1

TE 0cC Ag A 001

0000G CF F8 001
59 04 10 0 %D 88}
08 A3 23 CB 001
50 01 00 001

04 001

50 D& 001

04 001

|
i: Routine Size: 348 bytes, Routine Base:
|

$CODES + 07(B

Prolog 2 Indexed F

1!-50

WWMWV““""W-—-
@ OOV =N O Y NANMODWOM BN -

&=Sep-19

14%:

15%:

16%:

17%:

18%:

8 ﬁ:ﬁfis

g lﬂtgfglﬂlf HE

4(n
#ANLRMSS BAD IDXRE
"2, ANLSFORHA! 1]
?2&’68 MODE, #

Mk'Gﬂ_HODE . 06
17
=(SP)

*gNGYH
(HWP), =(SP)

n ANLSINDE! CAL
#0, #16, 4(HPT, R

LENGTH, B(R3)
#1, RO

RO

-
o

AX=11 alis «32 v4.0-742
ANALYZ. snc RMS210x.832;1
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3 ’ ;: } §=2ttl *ANLS2PRIMARY DATA_RECORD = Print & Check A Primary Data Record’

E i 14 } 1 | Functional Description:

B 14 1! This routine_is responsible for printing and checking the contents
5 1626 1! of a prolog 2 primary data record. Primary data records exist in
935 1425 1! the data buckets of the primary index. They can contain actual data
g }: 9 } : records or RRvVs.

938 1468 1 | Formal Parameters: .

939 14 ]! ¢ rec_bsd Address of BSD describing the data record.

940 1430 1! key_bsd Address of BSD describing key for this index.

941 16431 1! report A boolean, true if we are to print the record.
g:i }: i } E indent_level Indentation Level for the report.

944 1 1§ Implicit Inputs:

g:z }2 ; } ; global data

97 1437 1 ! Implicit Outputs:

gzg }233 } ; global data

950 1440 1 ! Returned Value:

321 }::1 } 2 True it there is another data record in this bucket, false otherwise.
32‘ ms ! | Side Effects:

955 1445 1 ie-

956 1446 1

957 1447 1

323 }2:3 % global routine anl$2primary_data_record(rec_bsd, key_bsd,report,indent_lLevel) = begin
960 1450 bind

821 }221 b = .rec_bsd: bsd;

96 145§ 2 own

ggg }:gg % data_flags_def: vector[btlong] initial(

966 1456 2 0.

967 1457 2 0.

968 1458 ¢ uplit byte (Xascic 'IRCSV_DELETED'),

969 1459 uplit byte (Xascic 'IRCSV_RRvV'),

g;? }22? ?glvt byte (Xascic "IRCSV_NOPTRSZ')

97 1462 2 local ;

97 146 hp: ref block[,byte],

974 1464 sp: ref block(,byte),

975 1465 rp: ref block(,bytel,

3;9 }229 data_length: long, length: long;

978 1468

979 1469 : First we have to ensure that this data record fits in the used space
980 1470 : of the bucket. If not, we have a drastic structure error. Begin by
331 }2;1 ! ensuring that the first byte fits.

gg‘ }:;? hp = .blbsd$L _bufptr];

985 1475 it .b(bsd$l offset] gequ .hf[bktSu_freespaceJ then (

986 1476 3 anlSformat_error(anlrms$_baddatarecfit,.blbsd$l_vbn));
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TA_RECORD = Print & Check A Prim 14-Sep=19
signal (anlrms$_unwind);

: Now calculate the Length of the record not including the actual data.
! Set up a pointer RP to the cata record.

sp = .blbsdSL _bufptr] + .b[bsd$l_offset]);
length = } :
(if .splircSv_noptrsz] then 0 else
( 850 .sg.ircSV_ptrsz from 0 to 3 of set

1]):

i : (inleornat_error(onlrnsi-baddatarecps..b[bsd!l,vbn]);
, signal (anlrms$_unwind););

es

t

):
rp = .sp ¢+ _.length;
it not .splircSv_rrv] and .anlSgl_fat[fatSv_rtypel nequ fat$c_fixed then

length = ,length + 2;
! Now make sure that all those bytes fit into the used portion of the bucket.

it .blbsdsl offset]*.len?th gtru .hp[bkttu_fqeesgacel then (
anl$tormat_error{anlrms$_baddatarecfit,.b[bsd$l_vbnl);
signal (anTrms$_unwind);

! Now determine and save the length of the data record. Add it to the
! overall length,

it not .splircSv_rrv] then (

data_length = (selectoneu .anl$gl_fat[fatSv_rtypel] of set
[fat$c_fixed]): .anl$gl_tat[fatSw_maxrec];
[(fat$c_variable,
:at’c_vfc]: .rpl0,0,16,0];
es);

. length = .length ¢ .&ata_length;

! Finally, make sure the entire thing fits,

it .blbsd$L _offsetl+.length gtru .hp[bktSw_freespacel then (
anlSformat_error{anirms$_baddatarectit,.blbsd$l_vbnl);

signal (anTrms$_unwind);

Pa 45
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RMS2IDX = Analyze Things for Prolog 2 Indexed f 1‘-30 -1984 23:53:24 AX=11 Bliss=32 v4&.0-742 P 46
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S ! Now we can actually format the structure, if requested.
if .report then (
! We begin with a nice heading.

anl$format_Line(3,.indent_Level ,anlrms$_idxprimrec,.blbsdSL_vbnl,.blbsdSl_offset]);
anl$tormat skip(0);

! Now the control flags.
anl$format_flags(.indent_Level+1,anlrms$_idxprimrecflags,.splirc$Sb_controll],data_flags_def);
! Now the record ID.
anl$format_Line(0,.indent_level+1,anlrms$_idxprimrecid,.splirc$b_idl);
! Now the RRV, both record ID and bucket pointer, if present.
it not .splircSv_noptrsz] then :
anl$format_Line(0,.indent_Level+1,anlrms$_idxprimrecrrv,
.splircSb_rrv_idl,.splircSv_ptrsz)+2,
(case .spttrglv,?trsz from 0 to 2 of set
: .sp[3.0.16,0];
5%: .spL3.0 3

.i‘.o
.5p(3,0,32,0]);
tes));

! Call a routine to format the primary key, if present.

VIVIWVAWVVWAS BB

it not .splircSv_rrv] then ( :
anl$format_Line(0,.indent_Level+1,anlrms$_idxkeybytes);
anlS?forngf_priuarr_key( _
(if .anlSgl_fat[fatS$y rt;pe] nequ fat$c_fixed then .rp+2 else .rp),
.key_bsd,.indent_level+2);

O~
= OO0 NS NN = O O 00 NN W IS AN = O 0 00 O SN N = OO 00 O~
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2 Indexed f 1?-119-1932 23:53:26  yAX-11 BLiss=32 vé.0-742 .

RﬂSi{Dl - Analxzc Things for Prolgo
ANL Check A Prim 14=Sep=19 ANALYZ.SRCIRMS2IDX.B32:1

PRIMARY_DATA_RECORD = Print

o
~
o~

Most of
! the checking has been done, since 1t involved the fit of the record

g; ! Now we can actually check the inttvrity of this data record.
! in the bucket.
65

However, we have a few things to do.
! Check the control bits, ignoring the pointer size.
anlScheck_flags(.blbsdSL_vbnl,.splircSb_control] and %x'fc’,data_flags_def);

S3=IFH

0o 00 0o
W) —

: Now we can check the record length for VF( records to make sure they are
! long enough to contain the header.

(elelelelelelelelelal

3

it not .sp[irct;_rrv] her.
it .anlSgl_fat flt‘v_rtyr:] eqlu_fat$c_vfc and

.data_length Lssu .anlSgl_fat[fatSb_vfcsize] then

I

2L PERER ARSI 1L

1 1

1 1

1 1

1 1

1 1

1 1

1 1

1 1

1 1

1 1

1 1

| |

1087 1

}833 } anl$format_error(anlrms$_vfctooshort,.blbsd$l_vbnl);

}83? : } it not .splircSv_rrv] and not .splircSv_deleted] then statistics_callback(

109; P15 ! If we are accumulating statistics, we need to call the data

}834 : }g 1 ! record callback routine, telling it the overall record Llength.

1095 P15 ; anl$data_callback(.data_Length,

1096 P 1584 .

1097 P 1585 ’

1098 P 1586 0);

1099 1587 );

1100 1588

10 1589 ! Now we want to advance on to the next data record. [f there is room in

}}8; }gg? ! the bucket for another, then update the BSD. Otherwise don't touch it.

1104 159‘ if .blbsd$Sl_offsetl+.length Lssu .hp[bktSw_freespacel then (

1105 159 blbsd$l_offset] = .b[bsd$l_offset]l + .length;

110? 1594 return true;

110 1595 ) else

1108 1596 return false;

1109 1597

1110 1598 1 end;

INFO#212 L1:1492

Null expression appears in value-required context
LPSECT SPLITS _NOWRT ,NOEXE,2

&6 45 54 45 C &5 44 S5F 56 43 52 49 0D 0018C P.ABC: LASCII <13>\IRCSV DELETED\
6 52 52 SF 56 24 43 52 49 09 O0019A P.ABD: .ASCII <9>\IRCSV_RRv\
SA 53 52 54 0 &F 4E SF 56 24 43 52 49 0D OO01A4 P.ABE: .ASCII <13>\IRCSV_NOPTRSZ\
LPSECT $SOWNS,NOEXE,?2
00000000 00000000 00000004 000AD DATA_FLAGEuggfz e
00000000* 00000000* 00000000* 000AC .ADDRESS P.ABC, P.ABD, P.ABE

PSECT SCODES,NOWRT,?2



lvgz.gb&l, RHSﬂDx - Anal 223&3 for Prolgg Indexed -%19-13& 73 gg §9 AX=11 Olis «32 V&.0-742 Page

ANLS2PRIMARY o A_R « Print & Check A Pr i ANALYZ.SRC nn521ox.032:1
OFFC 00000 .ENTRY ANL!;PR‘HAIV DA131?ECORD. Save R2,R3,R4,RS,=;
8 000000006 00 95 gooo MOVAB LxéssisnAL. R11
A 000000006 8F 0O 000 MOVL  #ANLRMSS unuxno. R10
9 06 AC DO 00010 MOVL  REC _BSD
g 08 A6 7D 00014 Mova  8(R8) 67
57 04 A8 10 0 Eo 0018 CMPZV 2 cio. 4(HP), R7
1 A 0001 BGTRU
06 A6 DD 000 PUSHL 4(ae)
000000006 8F DD 000 PUSHL  #ANLRMSS BADDATARECFIT
0000G CF gz ] 800 G CALLS  #2, ANLSFORMAT_ERROR
A DD 000 PUSHL R10
68 01 Ff8 000 CALL 1 LIBSSIGNAL
sg 57 oc A6 C1 ooog 1%: ADDL 12(R6) R7?, SP
3 og 04 EO 00038 BBS 0", (sﬁ), s
53 8§ 0 00 EF 0003C EXTZV  #0, #2, (SP), R3
00 53 CF 00041 CASEL R3. #0. #3
0017 0012 000D 0008 00045 2%: .WORD zg-sg.-
5$-2%.~
6$-2%
55 03 DO 0004D 3$: MOVL  #3, RS
1¥ 11 00050 BRB 13
55 04 DO ooos; 4$: MOVL  #4, RS
1A 11 0005 BRB 8s
55 05 DO 00057 5%: MOVL  #5, RS
15 11 0005A BRB 89
84 A6 DD 0005C 6$: PUSHL 4 (R6)
000000006 8F DD 0005F PUSHL  #ANLRMSS BADDATARECPS
0000G CF 02 FB 00065 CALLS #2, ANLSFORMAT_ERROR
SA DD 0006A PUSHL R16
68 01 FB 0006C CALLS 1 LIBSSIGNAL
S5 D& 0006F 7%: CLRL as
55 02 €O 00071 8$: ADDL2  #2. LENGTH
54 52 55 €1 00074 ADDL LENGTH, SP, RP
0C 62 03 EO 00078 BBS #3, (SP), 9%
01 00006 DF 04 00 sg 0007C CMPZV  #0. #4, SANLSGL_FAT, #1
03 13 00083 BEQL 9%
55 02 0 00085 ADDL2 #2. LENGTH
50 57 S5 €1 00088 9%: ADDL3  LENGTH, R7, RO
50 04 A8 10 00 ED 0008C CMPIV  #0, #16, 4(HP), RO
13 1€ 00092 BGEQU 10$
04 ab 0D 00094 PUSHL 4 (R6)
000000006 8F DD 00097 PUSHL  #ANLRMSS BADDATARECFIT
00006 CF 02 FB 0009D CALLS #2, ANLSFORMAT_ERROR
SA DD 000A2 PUSHL 6
01 FB 000A& CALLS LIBSSIGNAL
2A 62 03 &0 000A7 10$:  BBS us (SP), 15%
53 00006 CF DO 000AB MOVL  ANLSGL_FAT ns
50 63 04 00 EF 000BO EXTIV  #0, #47 (RY),
S0 D1 000BS (MPL RO, M
og 12 00088 BNEG 11
53 10 A3 3C 000BA MOVIWL 16(R3), DATA_LENGTH
13 11 000BE BRB 14%
02 50 D1 000CO 118: CMPL RO, #2
05 1F 000C3 BLSSU 12§

AR A R e R L L L L L e R I R AR A L R I R T E E T E T R R T R R T R A LT A R ALY
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RMS21DX DX = Aml for Prolog 2 Indexed F 15=Sep=1 3: 4 AX=11 Bliss=32 v4.0-742 = 49
_v04-6oo Auti PRIMARY o A_R 30 <%Print B Check A' Prim 14- 593-1234 7 23 i ANALYZ . SRCIRMS21DX. 832;1 39%€ 21
03 50 D1 oocg CMPL ng #3 ;
S 18 000C BLEGU 13§ :
53 ; gg 853 128: ggssL {1‘ DATA_LENGTH 5
53 & 3C 000CF 13$: MOVZWL (RP), DATA LENGTH : 1514
55 gg €00 oog 14$:  ADDL DATA LENGTH seucru : 1516
59 §7 1 8°° 15$:  ADDL 5"6 : 1521
59 04 AB 10 og ED 00009 CMPZV 96, &(HP) R9 :
06 AR D5 000F) PUSHL 6(R6) : 1522
000000006 8F DD 0OOE&4 PUSHL  #ANLRMSS BADDATARECFIT :
0000G CF 92 B 880EA CALLS li ANLSFORMAT ERROR :
A DD O0OEF PUSHL P 1523
68 01 rg 000F 1 CALLS LIBSSIGNAL ;
03 C AC E 000F4 168: BLBS neﬁ 178 . 1527
00BA 31 00OF8 BRW 268 ;
06 A6 B0 000rB V' PUSHE  &tre) e
000000006 8F DD 00100 PUSHL  #ANLRMSS IDXPRIMREC ;
1025 B0 09109 - el f
0000G CF 92 ;2 88}?8 Efkts 25 P?NLSFORHA! LINE § yate
00006 CF 01 FB 00112 CALLS 01 ANL$FORMAT _SKIP ;
g 000" &b Ok 00118 Pushan DARAFLAGS DEF- 3 Yo
000000006 8F DD 0011E PUSHL  #ANLRMSS IDXPRIHRECFLAGS ;
57 10 AC g; g; 88}53 sgghL g; INDERT_LEVEL, R :
e g g B RINE M amspar 15
000000006 8F DD 00134 PUSHL  #ANLRMSS_IDXPRIMRECID ;
2% bo 0013¢ PLALT  NesP) f
00006 CF 04 FB 0013 CALLS  #4, ANLSFORHAT _LINE ;
38 62 04 EO 08143 BBS #4. (SP), 238 = P 1544
50 62 02 00 EF 00147 EXTZV co nz (sp). RO P 1547
02 00 50 CF 0014C CASEL w2 :
0014 000¢C 0006 00150 188$: .WORD 382'132 - 2
1$-18% :
7€ 03 35 ;g 88}22 198: gg;ZUL 2§§P) -(SP) : 1548
7€ 03 A2 18 00 EF 0015C 20%: EXTZV  #0, #24, 3(SP), =(SP) : 1549
03 11 00162 BRB 2§ :
03 A2 DD 00164 21%:  PUSHL  3(SP) 1550
7€ 62 02 00 EF 00167 22%:  EXTZV  #0, #2. (SP). =-(SP) P 1546
oo @REMT NG f0h, s
000000006 8&F DD 00173 PUSHL  #ANLRMSS_IDXPRIMRECRRV ¢ 1545
R R e
b~ 35 18000 . LS g8 Myomur. LN s
000000006 8F DD 00186 ~ PUSHL  WANLRMSS IDXKEYBYTES 1556
57 DD 0018C PUSHL R7 :
76 D4 0018 CLRL  =(SP) ;
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13323685 Rnsgsbx - Analxze Things for Prolog 2 Ind

exed F 15-Sep=-1984 23:53:24 AX=11 Bliss=32 v4.0-742 7 50
ANLS2PRIMARY_DATA_RECORD = Print & Check A Prim 14-se5-193& ¥1=22=§9 !ANALVZ.SRC RMS21DX.B32;1 %€ 21
00006 CF F8 001 CALLS #3, ANLSFORMAT LINE :
7€ 18 AC 83 c? 0132 ADDL3  #2, INDENT_LEVEL, =(SP) ¢ 1559
, - 08 AC DD 0019A PUSHL xsv_aso :
| 01 0000G DF 04 00 eg 0190 CMPZV  #0,”#4, BANLSGL_FAT, #1 : 1558
08 13 001A4 BEQL 4$ < .
| 50 02 AL 9E 001A6 MOVAB (R4), RO 3
| 50 DD 801AA PUSHL RO :
| 02 11 001AC BRB 25$ :
| 5S¢ DD 001AE 345: PUSHL RP :
| 0000V CF 03 B 80130 5%: CALLS  #3, ANLS2FORMAT_PRIMARY_KEY :
| 0000* CF 9F 001BS 268:  PUSHAB DATA_FLAGS_DEF : 1568
| 50 gz 9A 80139 MOVZBL (SP)S RO :
| 7€ 50 FFFFFFO3 8F (B 001BC BICLS #-25%, RO, =(5P) :
| 04 A6 DD 001C4 PUSHL  4(R6) :
0000G CF 03 FB 001C7 CALLS  #3, ANLSCHECK_FLAGS ;
43 62 03 EO0 001CC BBS #3. (SP), 29% t 1573
50 00006 CF DO 00100 MOVL  ANLSGL_FAT, RO P 1574
03 60 04 00 ED 001DS CMPIV  #0, #4- (RO), #3 :
16 12 001DA BNEQ 27§ ;
53 OF AQ 08 00 ED 0010C CMPZV #0, #8, 15(RO), DATA_LENGTH : 1575
0E 1B 001E2 BLEQU 27§ ;
06 A6 DD 001E4 PUSHL & (R6) : 1576
000000006 8F DD 001E7 PUSHL  #ANLRMSS VFCTOOSHORT :
00006 CF 02 FB 001ED CALLS  #2, ANLSFORMAT_ERROR :
1D 62 03 EO 001F2 27%:  BBS #3. (SP), 29% : 1578
19 62 02 EO 001F6 BBS #2. (SP). 29% :
02 00006 CF 91 001FA CMPB  ANLSGB_MODE, #2 : 1587
07 13 001FF BEQL  28$ ;
04 00006 CF 91 00201 CMPB  ANLSGB_MODE, #4 ;.
0B 12 00206 BNEQ  29$ ;
7E  7C 00208 28%: CLRG  =(SP) ;
7E D& 0020A CLRL  =(SP) ;
53 DD 0020C PUSHL DATA LENGTH :
0000G CF 04 FB 0020€ CALLS  #4, ANLSDATA CALLBACK 3
59 04 A8 10 00 ED 00213 29%: CMPZV  #0. #16, 4(HP), R9 P 1592
08 1B 00219 BLEQU 30§ ;
08 A6 55 €0 00218 ADDL2 LENGTH, B8(Ré) : 1593
50 01 D0 0021F MOVL  #1, RO : 1596
04 00222 RET ;
50 D& 00223 30%: CLRL RO :
04 00225 RET T 1598
; Routine Size: 550 bytes, Routine Base: $CODES + 0927
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§2ettl 'ANLS2FORMAT _PRIMARY_KEY = Format Primary Key from Data’'

3

B B BN NN N N N AN N N AN NN RO A AU NI NI IR NI A PRI NI NI AIND b b b b ch o e o e e b o b b e

Functional Description:
his routine is called to dump the priqar¥ key from a data
record in a prolog 2 indexed file. This is more difficult than
prolog 3, because the primary key is not already extracted.

Formal Parameters:

rec_ptr Pointer to data record.
key_bsd Address of BSD describing key for this index.
indent_level Indentation level for the report.

1]

:

:

:

:

:

:

;

i

i

! Implicit Inputs:
5 global data
! Implicit Outputs:
5 global data
i

i

i

i

i
i-

.....................................Q.......l..'.‘......o..........-u'-.o.l.t...l'..l...‘.........O...l...l.l.l..

Returned Value:
none

Side Effects:

VSN AN = O 000 NN SNMAIN = O 0 00 NS NrY

global routine anl$2format_primary_key(rec_ptr, key_bsd,indent_level): novalue = begin

bind
k = .key_bsd: bsd;

local
kp: ref block[,bytel,
segment: long,
buffer_i: long,
local _described_butfer (buffer,256);

: Begin by setting up a pointer to the key descriptor. Then define
! @ couple of arrays, one for the sizes and one for the positions.
kp = .k[bsd$l_bufptr] + .k[bsd$l_offset];

begin
bigd

size_vector = k [ke;Sb_sigeQ]: vector( ,bytel,
pos_vector = kplkey3w_position0]): vectorl,word];

! It's really pretty simple. We Loop through each of the key segments
! and extract the data from the record. The data is concatenated into
! the key buffer.

buffer[len] = 0;

incru segment from 0 to .kplkey$b_segmentsl=1 do (

- i il il D el el D il il D D el s D el el S el e i il e e il ) i i s S i e e il D i i e el il D il sl D el ) ) il D i s D D D ol )

oo O VWA S &~ N NN N N AN N NN N NO NO N N NUNU AU RO = b b b b b b

(s ENTe W P o ugSOODNOmbmeOONO\BFWN—‘OOGNg

— il el e il il il il - il - ) il i i ol el el b ) i - b ) ) i ) b i D i i il e il i D e i i i i i il A D il il D D D
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wh

ch$move(.size_vector[.segment],.rec_ptr+.pos_vector(.segment],
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; Routine Size:

1

ANL

656 &

65

653 ¥
65 end;
660

661 !
66%

66

664

665

666

667 end;

e D D d D o e o b D >

57

60

90 bytes,

FORMAT_PRIMARY_KE

return;

)
p)
06 A
oc A
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0000G CF

Routine Base:

Now we can dump the key in hex.
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RHS%%DI = Analyze Things for Prolog 2 Indexed F lg-Sep-19
= Format Primary Key fr 14=Sep-19

4 23:53:24 AX=11 Bliss=32 v4.0-742
g‘ 1:53:&9 !ANALVZ.SRCJRHSZIDX.BBZ:1

Louffer(ptrl+.bufferllenl);
buffer(len]l = .buffer(len] + .size_vector[.segment];

4
3
§ anl$format_hex(.indent_level ,buffer);
1

00000
00002

elelelelelelalelclelelelelelelelelelelelele]
[=l=lelelelelelelalelelalealelelelelelelele ]
=l=lelelelelelelelelelelelelelelelelelele o]
NNAVASS IS 55 55 55 25 WNININIANINI NN POND) = b wd 3
O =0 > OO DN = VA= D WO

Y
L

~n
L]

ANLS$2FORMAT _PRIMARY_KEY, Save R2,R3,R4,RS,=

R6.R7,.R

-260(5P), SP

KEY _BSD, RO

#258, BUFFER
BUFFER+8, BUFFER+4
8(RO), 12(RO), KP
BUFFER

18(KP), RS

R8

SEGMENT

2%

44(KP)ESEGHENTJ. R2
28(KP) (SEGMENT], Ri
REC_PTR, R1

BUFFER, RO
BUFFER+4, RO

R2, (R1), (RO)

44 (KP) [SEGMENT], RO
RO, BUFFER

SEGMENT

SEGMENT, R8

1%

SP

INDENT _LEVEL

#2, ANLCSFORMAT _HEX

AR R LR L R I I I P PR T PR P PR T T PR TR T Y TR T PR TR T

Page 52
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1663

1667
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RMS2IDX = Analyze Things for Prolog 2 Indexed f lg-Se -1984 23:53:24 AX=11 Bliss=32 v&.0=742 Pa 3
ANL%%S[DR_RECO‘D - Prigt £ Check A’S!condary Da 14-503-19 & 1:53:£9 !ANALYZ.SRC RMS21DXx.B32;1 9'(Zg)

23
g2

Implicit Inputs:
global data

Implicit Outputs:

}gg }§?ttl 'ANLS2SIDR_RECORD = Print & Check A Secondary Data Record'

167? ! Functional Description:

67 This routine_is responsible for printing and checking the contents
67; of a prolog 2 secondary data record. Secondary data records exist
g;‘ in the data buckets of secondary indices. They contain SIDR records.
675 fFormal Parameters:

679 rec_bsd Address of BSD describing the data record.

67 BSD is updated to point at next record.

678 key_bsd Address of BSD describing the key for this index.
679 report A boolean, true if we are to print the record.

gg? indent_level Indentation level for the report.

68%

68

684

685

68

W S e e e

.bytel,

sp: ref block
.bytel,

kp: ref block
length: long,
p: bsd

sidr_péinters;

hp: ref blockﬁ.byte],

6 global data

687

688 Returned Value: g . ; :

ggg True if there is another SIDR in this bucket, false otherwise.
0 69N Side Effects:
0 69
0 69 -
0 694
0 695 ;
} 696 global routine anl$2sidr_record(rec_bsd,key_bsd,report,indent_Level) = begin
1 698 bind
1 699 b = .rec_bsd: bsd,
1 700 k = .key_bsd: bsd;
1 701
1 702 own : T
} 782 sidr_flags_def: vector[bzlong] initial(
1 0 0.
S 0 0,

0 0.

P4 0 0, . :
% 0 ?Dllt byte (Xascic "IRCSV_NODUPCNT®)
2
2 local
2
2
2
3
3
3
3
3
3

: First we have to ensure that the SIDR record fits in the used space of
! the bucket, If not, we have a drastic structure error. Begin by ensuring
! that the first byte fits.

— o i ) ) il ) —) - ) ) o b ) ) - - ) D i lh il il il ekl D D ) D ) D il ) D ) D D D D D ) il el D e D D il il i D D il
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—d il cnd ol aud il cnild b c b wuld il ab o i b b il il add b il D i il il il ) i i i i i il i D il D D i i D i i i i il i il ai e cud
o
O
~
AURLRINININLNIAINUNL N NININI AN NI AN NN N NI NI NI NI NONIND = cd d e cd ccd o ced o ) o o e e e el s i e e i el ol sl i

SNNSNNNNNNNNNNNNNNNNSNSNSN

PORUNININD b e b e e e o e
S NN = OV NOWVS W —=O OV ~NOW
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~
L]

hp = .blbsd$l_bufptrl;

it .olbsdSL _offset] gequ .hY[bkttu freespacea then
anlSformat orrgr(an rms$_baddatarecf ..b(bsdil vbnl);

‘. signal (anTrms$_unwind);

: Now we calculate the length of the entire SIDR record.

sp = b[bstl Jbufptrl + _blbsd$l_offset);
length

.splircSv_nodupcnt] then 0 else &) +
.splircSv_nodupcnt] then .sp(2,0,16,0) else .sp(6,0,16,00);
! Make sure the record fits in the used portion of the bucket.
it .blbsd$L _offsetl+. len?th gtru .hplbktSw_freespacel then (

anlSformat_error{anilrms$ baddatarecftt.. (bsd$l_vbnl);
signal (anTrms$_unwind);

AX=11 Bliss=32 v4.0-742 Page gb
(2%
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Rnsisz - Anal ze Things for Protog 2 Indexed f 15-509-19 4 73 gg ; AX=11 Bliss=32 v&.0-742 Page 55
ANLSZSIDR RECO D = Print & Check A Secondary Da 14-Sep-1984 9 ANALYZ.SRCIRMS21DX.B32;1 (24)

1747 ! Now we can format the SIDR record fixed portion, if requested.

kp = .k[bsdsl bufptr] + .k(bsd$L _offset];
it .report then (

! Start with a nice header.

anl$format_Line(3,.indent_Llevel ,anlrmsS_idxsidr,.b[bsdSL_vbnl,.bl[bsd$l_offsetl);
anlS$format” Skip(0 f

! Now format the flags.
anl$format_flags(.indent_level+1,anlrms$_idxsidrflags,.splircSb_controll,sidr_flags_def);
! Now format the record ID.
anl$format_Line(0,.indent_Llevel+1,anlrms$_idxsidrrecid,.splirc$b_idl);

O OO~ ON O O VWYV I

u-bu«u-o-oawoubw-ooowSmbw-aocowombw-oooa

! Now format the duplicate count if it exists,

if not .splircSv_nodupcnt] then
anl$format_Line(0,.indent_level+1,anlrms$_idxsidrdupcnt,.spl2,0,32.0));

! Now the key. We dump it in hex.
anl$format_Line(0,.indent_level+1,anlrms$_idxkeybytes);
e
key_dsc: descriptor;
build descrtptor(key dsc,.kplkey$Sb_keysz],
't
%;! .splirc$v_nodupcnt] then 0 else &) ¢

anétfornat-he:(.in&ent_level*?,key_dsc);
end;

POGN SN 8 85 85 8 8 £ 5 5 5 5 I\N\IN\N\NWN
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210X RMS21DX = Analyze Things for Prolog 2 Indexed f 1§-So =19 :53:24 AX=11 Bliss=32 v4.0-742 P 6
-600 ANLiiSlDR,RECO‘D - Prigt Check A’Socondary Da 14-508-1982 ?¥:23:§9 !AuALVI.SIC RMS2IDX.832;1 .9'(2;)
1 17 9 : Now we can actually check the integrity of the SIDR record. ALl we have
} }; 8 : to check is the flags. Don't get confused by the pointer size bits.
} };38 anlScheck_flags(.blbsdSL_vbnl,.splircSb_control) and ¥x'fc*,sidr_flags_def);
130 1791 ! At this point, if we are forqattin? a report, we're done. If we aren't
1308 179§ - (e.g.. we are checking the file), then we want to check all of the
} ?8 };3‘ ! SIDR pointers.
1311 1795 sidr_pointers = 0;
} }; };39 if not .report then (
1314 1798 ! Set up a BSD to describe the first SIDR pointer. This includes
1315 1799 ! setting the work longword to the number of bytes worth of pointers
} }? }gg? ! existing in the record.
1318 1ao§ init_bsd(p);
1319 180 cogy bucket(b.g);
1320 1804 plbsdsl_offset] = .b[bsd$l_offset] +
1352 1806 3 ¥
}ggg }gg‘ é siz .splircSv_noptrsz] then 0 eise 4) ¢
1325 1809 kplkey$Sb_keysz];
1326 1310 3 plbsd$l_work] = (if .sp[ir€Sv_;opfrsZJ then .sp(2,0,16,0] else .sp(6,0,16,01) -
}gg; }g}l .kplkey$b_keysz];
1329 181§ ! Now we can loop through each pointer, checking its integrity.
}gg? }g}g ! we'll count them as we go.
}%g% }S}? i do increment(sidr_pointers) while anl$2sidr_pointer(p,false);
1334 1818 3 anl$bucket(p,=1);
1
}%%g : }g%l S statistics_callback(
1339 P 182§ s ! If we are accumulating statistics, we want to call the data
1340 P 1824 : record callback routine and tell 1t the overall record length.
}%21 g }g%z 2 ! We also need to tell it the number of SIDR pointers in this record.
136% P 1827 g anl$data_callback(,length,
e S 3
1346 P 1350 .sidr_pointers);
1347 1831 2 );
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)

:sa GE 43 SO S5 44 &f

<
3
~N

gs
b4

4E 5F

04 ANLSZ2SIDR_RECORD = Print

1349 1
} ? } 2 ! room for one, then we're done.
1 1835
1 i 1 9 b(bsSd$L offset
1354 1 return true;
1355 1838 ) else
1 S? 1839 return false;
135 1840

end;
1358 1861 1 d

N 12
RMSZ2IDX = Analyze Things for Prolog 2 Indexed F 15-Sep-1984 23:53:
ii ‘ X £ Check AgSecondary Da 16-503-19 4 ?1:33:

i ! Now we want to advance on to the next SIDR in this bucket.

g& !Axoli BlisS-SZ V4.0-742
9 ANALYZ.SRCIRMSZ2IDX.B32:1

If there isn't

Otherwise update the BSD.

56 24 43 52 49 0E 00182 P.ABF:

bsd$l_offset]™+ .length;

PSECT
ASCII
PSECT

00000000 00000000 00000000 00000000 00000004 00088 SIDR_FLAGSGDEF:
00000000* 00OCC

OFFC 00000

SE 28
57 06 AC
52 08 AC
59 0C A7
5A 08 A7
SA 04 A9 10 ?g
04 A7
000000006  8F
00006 CF 02
000000006 8F
000000006 00 01
6 5A 0c A7
04 66 gk
0
50 04
06 66 04
5 02 Aé6
04
51 06 A6
gE 04 A140
04 AE A 6€
04 AE 06 A9 10 ?g

06 A7
000000006  8F
00006 CF 02

€2 00002
D0 00005
00 00009

0000

o
o
-0
—

[elelelelelelelelelelele]
WNONON) = —3 —a
ONVO M OVIWAN—-O g-—-wo-ooow

s

MO0 =M OW=ANMO =LOMATMNO MO0 MO T
L1

WOOMO =MVt Ot P DO WOOPOOO
[elelelelelelelelelelelelelelelelelelelelelele e -]
OOOOOOOOOOSOOOOOOOOOOQO
[slelelelelelelele =]

~NOOOO NN W

NNOYO~NOD

1%:

.LONG
.ADDRESS

.PSECT
+ENTRY

SuBL?2
MOvL
MOVL
MOVL
MOVL
CMPZV
BGTRU
PUSHL
PUSHL
CALLS
PUSHL
CALL
ADDL
BB(
CLRL
BRB
MOVL
8BC
MOVZuL
BRB

=8¥ZUL
ADDtg
CMPZV
BGEQU
PUSHL

PUSHL
CALLS

it .blbsdsl offsot]*.lsngthbtssu hplbktSw_freespacel then (

$PLITS NOWRT ,NOEXE,2
<14>\IRCSV_NODUPCNT\
$OWNS ,NOEXE, 2

6, 0,0,0,0
P .ABF

$CODES ,NOWRT,2

ANL$2SIDR_RECORD, Save R2,R3,R4,RS.R6,R7,-
R8,R9,R107R11

0, Sp
REC_BSD, R7

KEY BSD, R2

12(R7), WP

8(R7), R10

fg. #i6, 4(HP), R10

4(R7)
#ANLRMSS BADDATARECFIT
#2, ANLSFORMAT ERROR
#ANLRMSS UNWIND

#1, LIBSSIGNAL

12(R7), R10, SP

0, (5P), 2§

RO

3s

#6, RO
#4, (SP)
igsp). Rf

6(SP), R1
4(R1)ERO], LEN
Lsucru ri0, 4
80, #é, 4(HP)
e

4(R7)

FANLRMSS BADDATARECF 1T
#2, ANLSFORMAT_ERROR

4%

GTH
(SP)
. 4{SP)

AR R LR LR LR R IR L L L T T TR IR
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RﬂSisbl - An.l‘

ANLS2SIDR_RECORD = Print &

000000006 ©

58 0C A

0

00006 CF

00006 CF

7E

52 10 AC

0000G CF

4

00006 CF

12 66

00006 CF

00006 CF

08 AE

04 66

50

0C AE

7E 10 AC

00006 CF

50

{3 50

0000G CF

64

00 6t

10 AE

18 AE

24 AE

12
ze Things for Prolog 2 Indexed F 1;-509-
Check A Secondary Da 14=Sep-

000000006 8:

88

C
04

000000006
10

0000°*
000000006

01
000000006

02
000000006
000000006

14
04
08

0000°*
FFFFFFO3
04

0c
10

08
T4

14

:2
0098
SA

A7
8F
&

WP OO NP> OO MO NOO
MO SMNOTMONS N =TT LM

?D
(1

&

OOOOOOg

$222SRERSS

COO0O0O0O0O0O000O

[olelelelelelelalelelelel=l=]

o
m
o

OO T MmmMmm

(elelelelelelelslelelelelelelelelelelelelelelelrlclelelels
WSS SN B BN NAINI NIN) = b s O

e
P OO0 MOESrOODP D =""TMO=FR=2»p0Hr000ro00O0oDrOO» DO O "\ DHrHOOODOO
i ———————————— —p—— p— - LT LY Y e e L= L= ]

WOOON VMOMOOVOMTMOVOO-=OMOMOOO0O MTOOODUMMOOOVMNOMOYVOMD MTOOOOD
SOOOOOOOOOOOOOOOOOQOOOOOOOOOOO

~
[
-

11%:

1986 §1:32:85  YamaLvziiattancateatessd,

PUSHL
CALL

#ANLRMS
#1, LIBSSIGNAL
8(R2), 12(R2), kP
a;:oaf. 3

R10

4(R7)

#ANLRMSS 1DXSIDR
£NDENT_LEVEL

UNWIND

—

#5 ¢ ANLSFORMAT L INE
#1, ANLSFORMAT_SKIP

1
SIDR_FLAGS_DEF
(SP)T =(SPY
#ANLRMSS 1DXSIDRFLAGS
:}. INDENT_LEVEL, R2

#4, ANLSFORMAT _FLAGS
1($P), =(SP)
cSNLanss_loxsxonneclo

R

=(SP)

#4, ANLSFORMAT_L INE
56. ;SP). 8$

(SP
:SNLRHSS_IDXSIDRDUPCNT

-(SP)
#4, ANLSFORMAT L INE
:SNLRHSS_IDXKEVBYTES

-(SP)

#3, ANLSFORMAT LINE
20(kP), KEY DSC

:8. (SP), 9%

108
#4, RO
4(RO)CSP], KEY_DSC+4
Y_DSC

KEY_D
wg. INDENT LEVEL, =(SP)
#2. ANLSFORMAT HEX
SIDR_FLAGS_DEF

(SP)T RO

#-25%, RO, -(SP)

4(R7)

#3, ANLSCHECK_FLAGS
SIDR POINTERS

REPORT, 178

#0, (SP), #0, #24, P
(R7), T

8(R7, T1+8

20(R75, T1+20

;(SP)

LA R R R L L L L R R L T R T I I I R R A S R R L L  E T I T I T ETAE T E s s

Page 58

(26)
1745

1749
1750

1754

1755
1759

1763

1767
1768

1772

1782

1783

1789

1795
1802
1803
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RMS21DX RMS2]1DX = Analyze Things for Prolog 2 Indexed f 1‘-50 -19 :153:24 AX=11 Bliss=32 v4&.0-74 p 9
v0¢-5oo AﬂLiiSlou_aecolo - Prift £ Check A’Secondary Da 1‘-s.8-1982 i¥,§3,§9 !ANALVZ.SRC nnsz:ox.aszft "'(23)
00006 CF 2 1;5 CALLS  #2, ANLSBUCKET :
66 E1 00150 88( 8. (SP), 12 . 1807
g D& 00161 CLRL ag B
11 0016 BRB 138 :
go 4 08 016 1§s: MOVL  #4, RO :
0 A $ 81 138:  apoL2 R10, RO : 1806
51 14 A8 9A 00168 MOVZBL iocxr» R1 1809
18 A 04 A140 9 01?r MOVAB  4(R1)CRO], P+8 : 1808
06 gb 04 § 0173 BB( #6, (SP), 148 : 1810
6 02 A6 3¢ 001 MOV ZWL ¥(§P). Ré :
04 11 00170 8RB 11 :
26 06 A6 3C 0017F 14%:  MOVIWL 6(SP), Ré :
24 AE 6 51 ¢ 0133 158: SUBLS R1, Ré, P+20 ;1811
58 D6 00188 168: INCL™  SIDR _POINTERS : 1816
76 D4 0018A CLRL  =(SPY :
14 AE 9F 0018C PUSHAB P :
0000V CF g fg 0018F CALLS  #2, ANLS2SIDR_POINTER y
F1 E8 00194 BLBS RO, 16% :
7€ 01 CE 00197 MNEGL #1. =(SP) : 1818
14 AE 9F 0019A PUSHAB P :
00006 CF 02 FB 00190 CALLS  #2, ANLSBUCKET :
02 00006 CF 91 oo1A; 17%: CMPB  ANLSGB_MODE, #2 : 1831
07 13 001A BEQL  18% :
04 00006 CF 91 001A9 CMPB  ANLSGB_MODE, #4 :
0C 12 001AE BNEQ  19% :
S8 DD 00180 18$:  PUSHL SIDR POINTERS :
7€ 7C 00182 CLRG  =-(SPY ;
0C AE DD 00184 PUSHL  LENGTH :
00006 CF 04 FB 00187 CALLS #4, ANLSDATA CALLBACK :
04 A 04 10 00 ED Q01BC 19%:  CMPIV #0. #16, 4(HP), 4(SP) ;1835
08 18 001C3 BLEQU 20 ;
08 A7 6 €O 001C5 ADDL2 LENGTH, B(R7) P 1836
50 01 00 001€9 MOVL  #1, RO ;1839
04 001CC RET ;
50 D& 001CD 20%: ELRL RO :
04 001CF RET P 1841

; Routine Size: 464 bytes, Routine Base: S$CODES + OBA7
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{80on JOSRER 1SRRG Sron P escnd TECRCIBE PSR MASR SIS

R_POINTER = Format & Analyze SIDR Point 14=Sep=-19
!:Ettl *ANLS2SIDR_POINTER = Format & Analyze SIDR Pointer’

i Functional Description:
his routine is responsible for for-attin? and analyzing one of the
pointers in a SIDR record for prolog 2 files.

Formal Parameters:
pointer_bsd Address of BSD describing the pointer. The work
longword in the BSD is assumed to contain a count
of remaining b{tes in the SIDR record.
report Boolean, true 1f we are to format the pointer.
indent_level Indentation Level for the report.

Implicit Inputs:
global data

Implicit Outputs:
global data

Returned Value:
True if there is another SIDR pointer, false otherwise.

Side Effects:

global routine anl$2sidr_pointer(pointer_bsd,report,indent_Level) = begin

bind
p = .pointer_bsd: bsd;

own
pointer_flags_def: vectoz(é.long] initial(
81
galit byte (Xascic *IRCSV_DELETED'),
?Blit byte (Xascic 'IRCSV_NOPTRSZ®)
local

p: ref block[,bytel,
ength: long;

! We know the SIDR record fits in the used space of the bucket, because
! that was checked in ANL$2SIDR_RECORD.

! So we can calculate the overall length of the pointer.

p = .plbsd$l _bufptr] + .p[bsd$l_offset];
ength = 1 ¢
(8350 .pg{irc&v_ptrsz] from 0 to 3 of set
13: &

Page %9
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- format & Analyze

o Srstontslotenat IS B MRS

DR Po 14=Sep=1

: 5:
[i]: (anl$format_error(anlrms$_baddatarecps,.plbsd$i_vbnl);
Send signal (anlrms$_unwind););
es);

! Make sure the entire pointer fits in the SIDR record. If not, that's a
! drastic structure error.

it .length
an

4

tru .plbsd$L_work] then (
format_errorTanlrms$_badsidrptrfit,.plbsd$L_vbnl);

signal (anTrms$_unwind);

Page %)
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ANLS2SIDR_POINTER = Format & Analyze SIDR Point 14-Sep-1984 11:5 ANALYZ.SRCIRMS2IDX.B32;:1 (28)
}3}1 ! Now we can format the SIDR pointer if requested.

191§ it .report then (

1914

}g}s ! Format the flags. .
}glz anl$format_flags(.indent_lLevel ,anlrms$_idxsidrptrflags,.pplircSb_controll,pointer_flags_def);
1313 ! And the record ID and bucket VBN.

1921 anl$format_Line(0,.indent_Level ,anlrms$_idxsidrptrref,.pp(1,0,8,0],.pplircSv_ptrszl+2,

19 § 4 (case .pplir Sg_gtrai] from 0 to 2 of set

19 4 F .pp[2.0.16,0];

1924 & 1]): T .0.;4.0]:

1925 & 2]): .ppl2,0,32,0];

1926 3 tes));

1927 )3

32
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;RHSZESI RHS%& {D- Anal ze Th:ngs for Prolog 2 Indexed F 15- Sep-19gb 3353533 AX=11 Bliss=32 Vv4.0-742 Paqe(zs;

V04 ANL R POIN ER = Format & Analyze SIDR Point 14=Sep=1984 ANALYZ.SRCIRMS2IDX.B32:1
: 1448 1928 ! Now we have to check the record pointer. The only thin? to check is

: }243 }g 3 i the control flags. Don't get confused by the pointer size

g }221 13 1 anlScheck_flags(.pl(bsd$L_vbnl,.ppLircSb_control] and %x'fc’,pointer_flags_def);
: 162‘ 19 § : Now we want to advance on to the next pointer. Reduce the count of

: 1454 1934 i ren01n1ng bytes If it goes to zero, there are no more pointers,

: }2;5 }g 2 i 1f it doesn't, then update the BSD.

; 1659 1937 ; plbsd$|_work] = [bstl uork] = .length;

: 1458 1938 P bsdsl uork ?tru “then (

: 1459 1939 g plbsdsl of set] = .plbsd$l_offset] + .length;

; 1460 1940 return true;

: 1461 1941 2 ) else

: 146 194; s return false;

: 146 194

: 1464 1944 1 end

: INFON212 L1:1901

Null expression appears in value-required context

+PSECT SPLITS ,NOWRT,NOEXE,?2

46 45 54 45 4C 45 44 SF 56 24 43 52 49 0D 001C1 P.ABG: LASCII <13>\IRC$V_DELETED\ :
SA 53 52 S4L SO 4F 4E SF 56 24 43 52 49 OD O001CF p ABH: .ASCII <13>\IRCSV-NOPTRSZ\ :
.PSECT $OWNS,NOEXE,?2
s 00000000 00000000 00000004 000DO POINTER rtacg oez . s i
00000000" 000DC .ADDRESS P.ABG :
00000000 000EQ LONG 0 ;
00000000* 000E4 -ADDRESS P.ABH ;
.PSECT $CODES,NOWRT,2
00FC 00000 .ENTRY ANL$2SIDR POINTER, Save R2.R3.R4,R5.R6,R7 :; 1869
57 000000006 00 9€ 00002 MOVAB LIBSSIGNAC, R7 ;
56 000000006 8F DO 00009 MOVL  #ANLRMSS u~91~o R6 ;
54 064 AC DO 00010 MOVL  POINTER BSD, Ré4 P 1872
52 0C A4 08 A4 C1 00014 ADDL3  8(R4), T2(R&), ;1894
55 62 02 00 EF 0001A EXTIV  #0, #2, (PP), ns T 1896
03 00 §S CF 0001F CASEL RS. #0. #3 :
0017 0012 000D 0008 00023 1%: .WORD gg-};.- :
4$-1% .- :
58-1% :
53 03 DO 00028 2% MOVL  #3, R3 ;
1F 11 0002€E BRB 6% ;
53 04 DO 00030 3% MOVL  #4, R3 :
1A 11 00033 BRB ;
53 05 DO 00035 4% MOVL  #5, R3 ;
15 11 00038 BRB :
06 A& DD 0003A 5% PUSHL  &4(R&4) 1900
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RMS21DX RMS hings for Prolog 2 Indexed F 15-Sep=-1984 AX=11 Bliss=32 v4.0-742 P 4
v04-$oo ANL%&S!D ¥ r ?nat v, Analyze SIDR Point 14=Sep -1934 % 59 ANALYZ.SRCIRMS2IDX.B32;1 a9'(28)
000000006 8&F DD 0003 PUSHL  #ANLRMSS BADDATARECPS :
0000G CF §2 re 00042 CALLS az ANLSFORMAT_ERROR :
6 DD 0004 PUSHL R6 : 1901
67 01 FB 0004A CALLS #1, LIBSSIGNAL :
53 D& 0004D CLRL R3 : 1896
sg D6 0004F 6% INCL LENGTH : 1895
14 Ad 5 D1 00051 CMPL 5§NGTH. 20(R4) : 1907
13 18 00055 BLEQU :
04 A4 DD 80057 PUSHL  &(R&4) : 1908
000000006 8F DD OO0OSA PUSHL #ANLRMSS BADSIDRPTRFIT :
00006 CF 02 FB 00060 CALLS 32 ANLSFORMAT _ERROR :
56 DD 00065 PUSHL : 1909
67 01 FB 00067 CALLS 11 LIBSSIGNAL :
51 08 AC E9 0006A 7%: BLBC REPORT, 13% 51913
0000° CF 9F 0006 PUSHAB Poxnreﬁ FLAGS_DEF : 1917
7€ 62 9A 0007 MOVZBL (PP), =TSP) 2
000000006 &F DD 0007 PUSHL :ANLinss IDXSIDRPTRFLAGS :
0C AC DD 00078 PUSHL  INDENT LEVEL 3
00006 CF 04 FB 0007E CALLS #4, ANCSFORMAT FLAGS :
50 62 02 00 EF 00083 EXTZV  #0. #2, (PP), RO ;1922
* 02 00 SO CF 00088 CASEL RO, #0. #2 :
g 0014 000C 0006 0008C 8%: .WORD 9%$-8%,- :
, 108-8$,- :
11$-8$% :
7€ 02 A2 3C 00092 9%: MOVIWL 2(PP), =(SP) ;1923
l 0B 11 00096 BRB 12% :
7€ 02 A2 18 00 EF 00098 10%: EXTZV  #0, #24, 2(PP), =(SP) ;1924
03 11 0009 BRB 12$ :
02 A2 DD 000A0 11%: PUSHL 2(PP) : 1925
7€ 62 02 00 EF 000A3 12%: EXTIV  #0, wz (PP) =(SP) . 1921
| 6E 02 €O 000AB ADDL2  #2, (SP i
7E 01 A2 9A 000AB MOVZBL 1(PP), -( SP) :
000000006 8F DD OOOAF PUSHL  WANLRMSS IDXSIDRPTRREF :
0C AC DD 000BS PUSHL  INDENT_LEVEL 3
7€ D& 00088 CLRL =(SP) :
0000G CF 06 FB 000BA CALLS #6, ANLSFORMAT LINE ;
0000* CF 9F O000BF 13$%: PUSHAB POINTER FLAGS_DEF ;1931
: 50 62 9A 000C3 MOVZBL (PP), RO :
| 7€ 50 FFFFFFO3 8F CB 000Cé BICL3 #-25%, RO, =(SP) ;
, 046 A& DD 000CE PUSHL  &4(R&) :
' 0000G CF 03 FB 000D1 CALLS #3, ANLSCHECK FLAGS 3
14 A4 53 (2 00006 SUBL2 LENGTH, 20(R4Y 11937
08 13 000DA BEQL 14% : 1938
08 A4 53 (0 000DC ADDL2 LENGTH, 8(R&) : 1939
50 01 DO 000€0 MOVL #1, RO P 1942
04 000E3 RET :
SO D& 000E&L 14%: CLRL RO :
04 000E6 RET ;1944

;s Routine Size: 231 bytes, Routine Base: $CODES ¢ 0D77

L2 1465 1945 1 ’
. 1466 1946 0 end eludom
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RMS21DX RMS21DX = Things for Prolog 2 Indexed f 1§-Se -1984 23:53:24 AX=11 Bliss=32 v&.0-742
VO‘-&OO ANL%&SIDR ¥ - F ?nat £ Analyge SIDR Point 1&-5:3-1934 §1:§3:§9 ANALYZ.SRC RHSZID!.BSZ 1
LEXTRN LIBSSIGNAL
: PSECT SUMMARY
E Name Bytes Attributes
: SCODES 3678 NOVEC,NOWRT, RD , EXE,NOSHR, LCL, REL, CON.NOPIC.ALIGN(S)
: SPLITS 477 NOVEC NOURT. RD _NOEXE ,NOSHR, LCL, REL, CON,NOPIC,ALIGN(2)
;.  SOWNS 232 NOVEC, WRT, RD ,NOEXE,NOSHR, LCL, REL, CON,NOPIC,ALIGN(2)
Library Statistics
cecceces Symbols ===ce==- Pages Processing
File Total Loaded Percent Mapped Time
_$255%DUA28:[SYSLIBILIB.L32;1 18619 95 0 1000 00:01.8

;: Information: 3
; Warnings:

Memor
Compi

LR R LR R DI N FN

COMMAND QUALIFIERS

BLISS/CHECK=(FIELD,INITIAL ,OPTIMIZE) /LIS=LIS$:RMS2IDX/0BJ=0BJS:RMS2IDX MSRCS:RMS2IDX/UPDATE=(ENHS:RMS21DX)

Size: 3678 code + 709 data bytes
Run Time: 01:01.6

Elapsed Time: 03:11.5

Lines/CPU Min: 1896

Lexenes/(Pu-H1n 18683
r Used: 399 pages
]

tion Complete

Page %3
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